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Friday, November 23, 2012


--- On commencing at 9:34 a.m.

MR. MILLAR:  Good morning, everyone.  This is day 2 of the Toronto Hydro technical conference.  We are continuing with panel 1A.  Mr. Cass, are there any preliminary matters?


MR. CASS:  No, I don't think so, Mike.  We can proceed.


MR. MILLAR:  Okay.  Mr. Harper, I believe I volun-told you to go first.

THESL -  PANEL 1A, CAPITAL PLANNING PROCESSES A


Arthur Berdichevsky

Robert Otal

Sam Sadeghi

Michael Walker

Questions by Mr. Harper:


MR. HARPER:  Yes, that's fine.  There were a number of questions which I guess had been indicated had been assigned to this panel.  There were two questions bumped from Wednesday to this panel.  I would like to pick up on those first.


The first was VECC Technical Conference Question No. 12, and actually the evidence reference is tab 6F, schedule 1-28, which is a response to staff IR No. 28.


If you go to the fourth page of that response, there is a table 1 there.


MR. BERDICHEVSKY:  I'm sorry, can you please repeat the reference itself?


MR. HARPER:  Tab 6F.


MR. BERDICHEVSKY:  Yes.


MR. HARPER:  Schedule 1-28.  And, actually, it is the response to Board Staff Interrogatory No. 28.  If you go to the fourth page, there is a table there titled "Avoided Risk Costs Results by Job".


Actually, the question I posed probably just simple given the context you're talking from, I was trying to understand the relationship between the various columns in at that table, and I understand the first three, job numbers, job feeder, job cost.  It was the balance of the columns and how they relate to each other and how they finally relate to the last column, which I guess is the results of the whole thing.


I was wondering if it is possible to walk through and explain, you know, does column C equal A plus B, or how does it actually all come together?


MR. OTAL:  So I can take you through each of the variables contained in that table, if that is okay?


MR. HARPER:  Yes.


MR. OTAL:  So I will start with the first variable, which is the job cost, and this is essentially representing the total capital cost associated with that job.


MR. HARPER:  Yes.


MR. OTAL:  I believe that was also mentioned on Wednesday.  The next variable is PV 2015, cost of deviating from optimal intervention, or the present value, basically.


So to describe this one, I would like to reference interrogatory VECC IR 30.


MR. HARPER:  Well, I think we can make this shorter.  It is the individual columns, I understand what they represent.  It was a matter of, within the table, how one column relates to one of the other columns, like, and how the calculations work through to the final column.  That was really what I was interested in.


MR. OTAL:  Okay.  So what we're really doing here is comparing the costs to the benefits.


So if you see in the table, if I go to the fourth column from the left, and you have the cost of deviating from optimal intervention for 2015, that is present value to 2012, and then just to the right of that, you have the 2012 cost of deviating from optimal intervention.


Those represent essentially the costs that are associated with those jobs, okay.


Then if you go to -- if you go further right, you will see all of the benefits, and particularly if you look at -- if you look at the seventh column from the left, we have a net project benefit, one for 2015 present valued to 2012, and we also have one for 2012, net project benefit.


So how these variables are used, if you go to the further right, then, you see a project net cost, one calculated for 2015 present valued and one for 2012.


So, for example, if we were to calculate the present value of the 2015 project net cost.  We would take the present value of the cost of deviating from optimal intervention and subtract that with the present value of the 2015 net project benefit, and that is going to give us the project net cost.


MR. HARPER:  Right.  A similar thing, if you take the project 2012 cost of deviating 2012 project net benefit, you get the second column from the far right, sort of thing?


MR. OTAL:  That is correct.


MR. HARPER:  Right.  And then if I understand it, you take those -- the second and third columns from the far right and make -- the difference between those two gives you the last column?


MR. OTAL:  Yes.  We would -- yes.  Yes, so we would take the 2015, and that is subtracted, with the 2012 and that gives us the three-year avoided risk cost.


MR. HARPER:  So effectively the column dated 2012, concurrent intervention benefit, doesn't factor at all into the calculation of the column on the far right-hand side of the table?


MR. OTAL:  That concurrent intervention benefit is included as part of the net project benefit.


MR. HARPER:  Okay.  So that's included in the net project benefit two columns further.


MR. OTAL:  Correct, yes.


MR. HARPER:  That's where I was having some trouble trying to understand how it came together.


And as I understand it, the concurrent benefit, that is the additional benefits of doing that job in conjunction with -- through your planning process in conjunction with other jobs at the same point in time and the synergies you realize out of that.  Is that a fair understanding or is it something else?


MR. OTAL:  Yes.  It would be related to the costs, essentially, so the costs of doing those assets individually as opposed to doing them all at once as a job.


MR. HARPER:  So theoretically that would be -- that should be -- they are theoretically doing them all together, that would be -- that should be a benefit in all cases, would it be?


MR. OTAL:  Yes, it's a concurrent intervention benefit.


MR. HARPER:  I was looking down the column and I was trying to understand why some of them are negative, actually.


MR. OTAL:  So there are certain instances where the concurrent intervention benefit is negative.


And those would be due to the fact that in the underground infrastructure jobs, we are also replacing certain assets that may have not been modelled in the quantitative results.


So, for example, in the jobs, we would replace direct buried secondary cables in addition to primary cables, but we haven't accounted for those secondary cables within the quantitative results.


And so that's where you would have those negative values, because we're not including the sum of those individual secondary replacements and comparing them to the total job costs.


MR. HARPER:  That is useful, because I was trying to understand the negative benefit, but this is useful.


Thank you very much.


The next follow-up that was directed to you was the last part of VECC Technical Conference Question No. 14, and if we go to -- if we go to schedule 6F -- excuse me, tab 6F, schedule 11-51, which is your response to VECC Interrogatory No. 51?


Now, I was just curious, because this is dealing with sort of lines 12 and 13 on the first page, because in that table we looked at, you had concurrent intervention benefits for each individual job.  You had them listed there for each individual job in that first response we looked at.


In this one, you're talking about the fact that the concurrent intervention benefits -- I think what you're saying is they can't be calculated by job or asset type.  They can only be calculated on overall aggregate full project basis.


I was just wondering, is that due to the nature of the work involved here as opposed to the nature of the work we were involved looking at the first time?  I am wondering why you can to it job by job in one case, and in the other case you can only do it at a very high aggregate level.


MR. OTAL:  If I may just repeat the question for this particular interrogatory, Interrogatory 51, it's asking us:   Please provide the individual avoided estimated risk cost for each of the asset being replaced.


So then if I go to table 1, the results are presented by assets, essentially, in this case by asset class.  We're grouping all of those assets within the asset class.


And so when we say that we calculate concurrent intervention benefit by project, it is by the job or by the segment in this case, but we cannot calculate it at the asset level, because those benefits obviously are not realized when you replace those assets individually.  It's only when you combine them as a job or as a segment that you get those concurrent intervention benefits.


MR. HARPER:  Fine.  Thank you.  That's very helpful and helps me understand.  Thank you.


Now I guess I would like to turn to the questions that that were, I guess, assigned to this panel.  The first was VECC Technical Conference Question No. 8.  If you can give me a minute to turn that up myself, that would be useful.  That is tab 6(e), schedule 11-15, and it was the response to VECC No. 15.


MR. WALKER:  Sorry, can you give me the reference again?


MR. HARPER:  Tab 6(e), schedule 11-15, and actually, what it will be will the response to VECC Interrogatory No. 15.


MR. BERDICHEVSKY:  Sure.  Can you please repeat the question?


MR. HARPER:  Right.  Well, actually I haven't got it.


Actually, in the original question we'd asked -- I'm looking at the response to part (a) -- in the original question we'd asked you to indicate whether at the project level, the projects you were proposing, for each of the projects that you were proposing for 2012, whether that was a new project that was just being undertaken for the first time in 2012, or whether work on that project had been involved in previous years.


And I think your response was indicating, I think to a large extent, that, you know, each individual job -- you know, each individual job is new, and I understand that.


Each individual job for each individual segment is new for 2012, because obviously you don't work on the same pole twice.


But what I was focussing more was on a project level, because a project, I understand, consists of a number of jobs that are essentially doing the same thing but on different assets or in different locations.


I was trying to understand which projects are new for 2012; like, you never had similar jobs on similar types of assets before, or other -- versus other projects where, you know, you've got jobs now but you did have jobs of a similar type but on different assets in 2010 and 2011.


So that -- and it was within that context I was looking for the answer, and I didn't see the answer in that context in the response.  And so I was hoping you could help me out here.


MR. BERDICHEVSKY:  So I just don't remember the exact interrogatory, but we provided an answer that it would be very hard to compare projects from 2011 to 2012.


So really on a higher level, I would say that you are correct, because, for example, a rear lot is rear lot.  Doesn't matter whether it is 2011 or 2012 application.


But what we want to stress out in this answer is really that the jobs themselves are -- have been evolved into new jobs type of things.


But in terms of projects and segments, I would say that SMD 20 as a segment standing out would be the one that is really a new one, and for the reason being it is really that we figure that we find out on the -- sometime in September of last year that those SMD 20s are really fading in the field, and then therefore we introduced it as a new asset type of thing.


But pretty much distribution system is the distribution system, so...


MR. HARPER:  Maybe so when I am reading through this part of the transcript I don't have to flip back to the application, if you can just remind us what SMD 20 was in terms of the project, that would assist.


MR. BERDICHEVSKY:  SMD 20 is a segment that was -- those are the fuses that are safety-related fuses that they're failing.  They're just breaking by themselves when the crews are starting to touch them.


MR. HARPER:  Right.


MR. BERDICHEVSKY:  So it is a faulty switch that we believe -- we are confident that it should not be in the field because it provides for --


MR. HARPER:  Right.  No, I understand.


So that's sort of characterized as new, you know, that's sort of the one you would see as a new project.


That's what I'm trying to get a sense of.  You say you can't do it dollar-wise, but at least get a sense of which projects are ones that are sort of new jobs in the same project area carrying on.


And you would say all of them except for this one?


MR. BERDICHEVSKY:  I'm saying that it's -– like, I answered it that it is very hard to compare between one and the other.  So there will be some similarities, right?  Like as an example that I provided, rear lot for example.  Right?  Rear lot, we have it in the system, and there is a problem with this and we have to address this problem, right?


So we mentioned it before in 2011, obviously.  And this problem didn't go away; we still have this problem.  We still have all of the other problems that we were talking about.  But, like, I'm trying to say that to make sure you really understand we are talking -- it will be comparing apples and oranges type of thing, so even though it is same overall...


MR. WALKER:  I think the way we need to think of this is when we got our -- when our cost of service was rejected, we went back and we re-looked at our whole work plan from a different perspective, from an ICM perspective.  And we built our business cases, and subsequently our segments and our jobs and all of that on the basis of that ICM criteria.


And those criteria are not identical to what we used in cost of service.


Certainly, there are, you know, jobs that are similar or the same between those two things, because, you know, a lot of the work that we were doing in cost of service was important work.  It was -- it would fit the ICM criteria.  But we don't feel we can go back and shoehorn them back into the cost of service world, because we took a different approach.


MR. HARPER:  Well, I will leave it now.  I think you may hear from this question again later on, but I will leave it for now.


I guess I had a similar perspective -- that was, I guess, part (c), but if I look at part -- excuse me, just let me get my bearings here.


If I go to Technical Conference Question No. 9, which I think -- actually, it is staying with the same interrogatory, VECC 15.  I am looking at parts (d) and (e).  While part (a) look backwards, I was trying to get an understanding looking forward, after -- well, after 2014, let's say.  After 2014, again, there will be -- I understand there is jobs that go over from one year to the other.  That was what you explained to me in the response.


What I was trying to get an idea again at a project level, are any of these projects projects that at a project level, you would see they'd wrapped up in 2014, and I wouldn't have, you know, related jobs going on after 2014?  Are all of these projects things that I will continue to have sort of jobs coming up that would be -- you know, would fall under that umbrella of that project.  It is just they will be coming up in 2015, 2016?  Or are there any of these projects that you, know, 2014 they're done and over with, as far as you're concerned from your planning perspective right now?


More or less, 2014 solves the problem, I guess, if I can put it that way?


[Witness panel confers]


MR. BERDICHEVSKY:  Can you please repeat the answer (sic), so that I provide a more precise answer?


MR. HARPER:  I will try to repeat the question.


MR. BERDICHEVSKY:  Yeah.


MR. HARPER:  What I was trying to understand was you have a number of -- you've got 22-odd projects here, each of which has a number of jobs in it that originally were proposed over 2012 to 2014.


At a project level, which involves a certain type of work, if I can put it that way, I was wondering whether any of those projects were those types of work where, in your view, that type of work is sort of done and will no longer be required after 2014.  Or are the jobs you have here under each of those projects, you will continue to require similar types of work beyond 2014, but obviously they will be different jobs?


MR. BERDICHEVSKY:  That's correct.  So some of them, I believe, would be done by 2014, and some of them will have to carry on.


MR. HARPER:  Is it easy -- like, I don't know.  Whichever list is shorter.  Is it easier for you to give me an indication of those?  Like, you can give me the ones that are done or the ones that won't be done, whichever one is the shorter one and takes less time to go through.


And if you feel uncomfortable doing it right now and you can take it by way of an undertaking, that would be fine.


MR. BERDICHEVSKY:  So if you have to stay at a project level, I would say that, for example, underground infrastructure and cable we'll have to continue, because we have a lot of assets there, and we really have to address more assets than we're really addressing right now.  So that is the problem.


And, you know, if it would be in the perfect world, then we will have unlimited amount of funding and limited amount -- not amount, but, um..., liberty of execution, will not be constrained about anything, then we would probably do all of it right now.


But just from execution from funding, from a lot of criteria, we will have to keep on working on the underground infrastructure cable.  I believe we will have to keep on working on the overhead infrastructure and equipment, network infrastructure, station infrastructure.  Bremner hopefully will be done by that time.


Hydro One capital contributions, because it is tied to stations, how we're doing, so probably I would think we will have to keep on doing this.


Feeder automation, probably we will have to keep on doing this.  Metering, same deal, it will be depending on the measurement of Canada -- Measurement Canada and regulatory environment that we will be going through.


So it will be depending on the circumstances at the time of, you know, closer to 2015.


Grid solutions, we took it out of this so I will not comment on this one.  And the rest of them, yes.


MR. HARPER:  Thank you very much.  The next question I had was VECC Technical Conference Question No. 10, and that was looking at tab -- we just -- actually, stay at the same place, tab 6E, schedule 11-16.  So it's the next interrogatory down.


Actually, I was just curious here.  You show that for 2012 the forecast capital not in service is 162.06 million.


MR. BERDICHEVSKY:  I'm sorry, give me just one second to find the interrogatory itself.


MR. HARPER:  Sure.


[Witness panel confers]


MR. WALKER:  Okay, I think we have it.


MR. HARPER:  Okay.  Fairly simple.  The table there shows sort of capital spend and forecast capital in-service additions in both 2012 and 2013.  On the far right-hand side you have forecast capital not in service for 2012 as 162.06 million.


The simple question was:  Do you anticipate that that 162.06 million will be in service by the end of 2013, or will some of it actually still be carrying over and not be in service until post-2013?


MR. WALKER:  In that number, there's some costs associated with Bremner station.  Those we will not be energized, but the remainder of it we anticipate will be energized in that year.


MR. HARPER:  Do you know how much that is out of the 162 would be energized and what is the portion that is Bremner, or is it just -- if I look at the Bremner capital expenditure, that's the amount that will not be capitalized and everything else will?  Is that the easiest way to get at it?


MR. WALKER:  Yes.  And the Hydro One contribution is part of it, as well.


MR. HARPER:  Okay.  So except for those two, everything else is expected to be in service in 2013?


MR. WALKER:  That's right.


MR. HARPER:  Okay, thank you very much.  Actually, just if you -- I would just like to go now to -- actually, this is dealing more with your actual updates.  So if you go to the addendum for tab 2?


MR. WALKER:  Yes.


MR. HARPER:  And you -- it's the addendum for tab 2, page 14, table 2; page 14 of 17.


MR. WALKER:  Okay, yes.


MR. HARPER:  This is where you list sort of at a project and segment level the original costs, the updated costs and the variance in each case.


Now, if I look up -- just at the bottom of the previous page, it explains that the differences in costs are really due to job cost changes, job additions and the job timing changes that you made between the original application and the update here.


I was just wondering, is there any way you can provide us with an indication as to, at this broad project or segment level for those variances, sort of in each case how much is due to cost changes versus sort of addition of jobs versus the timing shift?


MR. WALKER:  We do have that information, but it's at each individual job level.  We would have to go back and look into every job and put that together.  It's a fairly significant task.


MR. HARPER:  Is there -- I guess maybe it is in the evidence and I can go through it, but is there some way of -- I apologize if it's in the update, and I probably read it and I missed it or don't remember it -- indicating which of these segments had cost changes or job additions, like, without putting the numbers down, just which segments were impacted by those two elements, and, therefore, the variance is due to something other than just timing changes?


Without getting into the detail at the job level, is that something that is either in the evidence or something in your update, and you can maybe just confirm that for me and let me know where it is, or something that would be much easier for you to do than going through and trying to get the dollars themselves?


MR. WALKER:  I don't believe it is in the evidence anywhere currently, and I can't say categorically.


I would expect that there is probably, you know, elements of both in most, if not all, of the segments, but we really have to check that to be sure.


MR. HARPER:  Okay.  Well, you know, maybe if that would be possible and just sort of on a best efforts basis.  I am trying to avoid having to get you to go through the individual -- I understand that could be a fair amount of work.


MR. WALKER:  The problem is I still have to go through every individual job to determine that.


MR. HARPER:  Okay, okay.  Is the evidence clear in terms of where there were job additions, which segments had job additions to them?


[Witness panel confers]


MR. HARPER:  I was trying to watch for that, as well, when I was going through it, and I didn't catch it, but it may well be there and I just didn't spot it.


MR. WALKER:  I'm sorry, are you only interested in which segments were affected by that?


MR. HARPER:  Yes, which segments were affected by job additions.


MR. WALKER:  If you turn to page 11 of the addendum, tab 2.


MR. HARPER:  Okay.


MR. WALKER:  There is a section there towards the bottom that says "additions of jobs", and it notes that ten jobs were added in three segments, underground infrastructure, feeder automation and HONI contributions.


MR. HARPER:  And do you know what the -- how much cost those ten jobs added to each of those three?  Is that something -- so at least we know even with cost changes, like, where the numbers change because you are actually doing additional work and how much it is in each of the segment?  Is that something you could tell me more easily?


MR. WALKER:  Yes.  It does mention that it's noted in the business cases themselves.  But if you like, we could put that together.


MR. HARPER:  If you could, that would be useful.  There is a lot of blue pages on the business cases.


Thank you very much.


MR. MILLAR:  JT2.1.  Could you confirm what the undertaking is, Mr. Harper?


MR. HARPER:  Right.  I was looking for -- they identified three project segments where there are new job additions, and I was just wanting to know what the impact of those new job additions was on the costs for 2012 and 2013 for each of those three job segments.


MR. MILLAR:  Thank you.

UNDERTAKING NO. JT2.1:  TO PROVIDE IMPACT OF NEW JOB ADDITIONS ON COSTS FOR 2012 AND 2013.

MR. WALKER:  It does say there the additional jobs -- the total cost of the additional jobs is 5.5 million in 2012 and 2.8 million in 2013.


MR. HARPER:  I was looking for the breakdown between the individual three project segments, if you could.


MR. WALKER:  Okay.


MR. HARPER:  At least then we're looking at the project segments, because that's how you put your evidence together, so we understand what is the basis for the variances and changes that you have given us.


MR. WALKER:  Okay, sure.


MR. HARPER:  I would like to move now to VECC Technical Conference Question No. 25.  That is at tab 6F, 1-67, and that's at Staff Interrogatory No. 67.

Maybe just let me know when you've got it.


MR. SADEGHI:  I have it here.


MR. HARPER:  We are looking at part (a), which is dealing with engineering capital.


MR. SADEGHI:  Yes.


MR. HARPER:  I guess what you're saying is you presented it here as a group, but engineering capital costs are allocated to projects at the time of completion and then capitalized as part of the cost of the project?


MR. SADEGHI:  Yes.


MR. HARPER:  And I was just wondering, out of this engineering capital, if you could tell us how much of it is associated with projects that have in-service additions in 2012 and 2013, based on the update that you filed.


MR. SADEGHI:  If I can refer you to Interrogatory 16?


MR. HARPER:  Yes.


MR. SADEGHI:  Line 15?


MR. HARPER:  Okay.  That is Interrogatory No. 6?


MR. SADEGHI:  Sixteen.


MR. HARPER:  Sixteen from Board Staff?


MR. SADEGHI:  This is from VECC.


MR. HARPER:  Okay.  I just want to make sure I get... That would be under the -- okay.


MR. SADEGHI:  Under tab 6(e), schedule 11-16.


MR. HARPER:  Right.  Okay.


MR. SADEGHI:  So if you look at line number 15, the table?


MR. HARPER:  Yes.


MR. SADEGHI:  The third column to the right says:

“Forecasted capital in-service percentage."


41 percent for 2012, and 2013 is 49 percent.


MR. HARPER:  Right.


MR. SADEGHI:  The same percentage applies to engineering capital.


MR. HARPER:  Okay.  So just applied on a percentage basis to the engineering capital?


MR. SADEGHI:  That is correct.


MR. HARPER:  Okay.  Fine.  And I guess the same thing would apply, then, for 2012?  The remaining 59 percent would actually be, then, going into service in 2013, because the -- except for the -- is there engineering capital -- there would be a portion of engineering capital, I assume, associated with Bremner, but not with the capital contributions?  Is that a...


Like, I was trying to apply these because we were talking in this table about how part of this was capital contributions, and I wasn't too sure whether engineering -- I don't design things, so I wasn't too sure if sort of the percentage actually applied to Bremner capital contributions, as well, or whether, when we're applying this percentage, we should be leaving Bremner capital contributions out of the application of the percentage.


[Witness panel confers]


MR. SADEGHI:  To respond to your question, I will refer you to OEB Staff Interrogatory No. 67.


MR. HARPER:  That's under the (f) series, is it?


MR. SADEGHI:  Yes.  That is tab 6(f), schedule 1-67.


MR. HARPER:  Okay.  That's where we started from.  Right.


MR. SADEGHI:  Yes.  Page 2, line 2:

“Both engineering capital and total distribution capital expenditures are based on gross distribution capital, excluding recoverable consumer contributions and excluding station enhancement capital."


MR. HARPER:  Okay.  In the station enhancement capital, that would -- if I was trying to relate that to -- that's for a particular project, is it, or is that referring to Bremner?


MR. SADEGHI:  I don't have that information here with me.


MR. HARPER:  Okay.  I was just trying to understand excluding station enhancement capital, and flip that back in terms of if I was to look back at your listing of projects and segments, you know, where I would find station enhancement capital and what that dollar value would be, you know, if I was trying to apply those percentage that you pointed me to earlier.


Maybe the easiest thing, if it's acceptable to you, rather than sort of trying to go through it, is if you could take those percentages with these definitions, and tell me how much of that engineering capital will be in service in 2012 and how much will be in service in 2013.  That may be just as easy as you going back and having to clarify what station enhancement is and going through that whole -- and then leaving me it to me to do the wrong calculation, to be quite honest with you.


[Witness panel confers]


MR. HARPER:  I mean, you don't have to do it right now.  I appreciate it is a lot of work, so if you want to take some time to do it and give it back as an undertaking, that is fine too.


MR. SADEGHI:  I believe my colleagues in panel 4 will be able to better answer that.


MR. HARPER:  Okay.  That's fine.  We will take it up with them this afternoon, probably.  Okay.  Thank you.


That was No. 25, I believe.  Yes.


Actually, I think I can pass on 26.  The next one I would like to turn you to is VECC Technical Conference Question No. 29.  That is referring to -- it's tab 6(f), schedule 7-17.  That is an Energy Probe interrogatory.


MR. OTAL:  Yes, I'm there.


MR. HARPER:  Okay.  Now, there is a set of tables here, showing -- this is dealing, I think, with the back feeder lot replacement, and tables showing the cost of different options.  As I was looking at it, I had a number of clarification questions.


The first one, you have a figure 1 here, which is dealing with sample calculations for 2012 replacement.  I just want to make sure all of the costs in this table are then net present valued back to 2012.


MR. OTAL:  All of the costs are in 2012, so...


MR. HARPER:  Okay.  Fine.  Then if I go to figure 2, which is dealing with the same options but looking at a 2015 conversion, are the costs in this table too all net present value back to 2012?


MR. OTAL:  That is correct.


MR. HARPER:  I just want to make sure I understand.


And then I was just wondering, in both tables you have a maintenance cost for the underground front lot of this COOUG, is what you call it.


And I was curious.  If one is replacement in 2012 and the other is a replacement in 2015, I was trying to understand why the -- I think why the costs are the same in both cases, if we're talking about the maintenance of the underground front lot.  Maybe it is just a matter of rounding on 0.15, but I wouldn't have thought the two costs would have been the same.


MR. OTAL:  So the cost of ownership underground variable, COOUG --


MR. HARPER:  Right?


MR. OTAL:  -- it is dealing with the cost of ownership of the new underground front lot construction.


And so one scenario, it's going to be installed in 2012; in the other scenario, it's going to be installed in 2015.  And because these are the exact same assets, brand new assets, being installed in either 2012 or 2015, we would expect the cost of ownership of these assets to be exactly the same in either scenario.


MR. HARPER:  But you're installing them in different dates, so one you've -- one you own for longer than the other, so -- you know, as an underground facility, so that's where I was struggling with why the numbers would be the same.


I could see the costs being the same each year, you know, but if you're installing them on different dates, I would have thought the cost of ownership of installing it in 2012 overall would have been higher than if we only have to install it in 2015.


MR. OTAL:  So that would be captured with respect to the cost of ownership of the existing assets that are staying in place.


So in one scenario those existing assets are being replaced in 2012; in the other scenario those existing assets will be replaced in 2015.


So you would expect the cost of ownership to be different with respect to the existing state of assets that will be removed from the system.


MR. HARPER:  So it's the cost of the existing assets is where you -- basically, you're netting out the difference there between the two different types of assets over that three-year period?


MR. OTAL:  The time when you have to intervene on those assets.


MR. HARPER:  Right.  Okay, fine.  I think I understand that now.


Then I guess in part (b), in response to our question, you said the two figures, I think, had the same -- were both net present valued back to 2012.  So I was struggling why the cost of option 4 is higher under figure 2 than under figure 1, because I would have thought if you were doing it later, yes, there is an inflation cost, but also when you net present value back, the discount rate is typically higher than inflation and you come up with a lower value as opposed to a higher value.


MR. OTAL:  Sorry, are you referring to the cost of ownership or the project cost?


MR. HARPER:  Sorry.  It is the project cost under option 4.  If you look at figure 1, the project cost is --


MR. OTAL:  1.87.


MR. HARPER:  For 2012.  And if you look at the project cost under option -- under figure 2, it is 1.97.  Now, my understanding from your response was both those project costs were net present valued back to 2012.


I would have thought inflation is 2 percent and the discount rate is 6 percent, the project cost under the second figure would have been less than the project cost under the first figure, and it wasn't.  So that is where I was having my problem and looking for an explanation.


MR. OTAL:  So the project cost in figure 2 for 1.97 includes not just the cost of installing the underground front lot construction, but it also includes the additional maintenance cost for the overhead assets that's going to be done in that three-year period.  That's charged to the project.


MR. HARPER:  Okay.  So it is almost like a flip side of the conversation we had earlier in terms of -- it is really a matter of where you put costs that are going to change during -- I mean, during that three-year period, because you are picking one option over another?


MR. OTAL:  Yes, because in this instance, because those maintenance costs are going to be almost the difference in weighting, right.  It's going to be charged to the project, essentially.


So when you're comparing your new state to your existing state, and then you are charging that project cost, you would expect to see that delta with maintenance to be part of that project cost.


MR. HARPER:  Okay, fine.  Thank you.  I think I understand why it was coming out a different way than what I had expected.


I think I am -- let me just get my bearings here for a second.


I would like to go to VECC Technical Conference Question No. 31.  This is tab 6F, schedule 11-20.  Okay?  I'm sorry, I was just waiting for you to tell me you had gotten there.  I apologize.


The first part of this question was asking about your different results for your different reliability measures on a historical basis.  I was interested particularly in your response to part (b).  I don't know if you were here on Wednesday, but there was a lit bit of conversation about this on Wednesday, but it didn't get to the issue I was interested in.


In the second paragraph to your response to part (b), you say:

"THESL does not consider these statistics..."


Which I assume that is referring to SAIDI, SAIFI and CAIDI,

"...as indicating that THESL's reliability is currently at an acceptable level.  THESL has not and does not consider its current reliability to be good."


And I guess what I was interested in was that if these aren't the statistics that should -- I got from that that these really aren't the statistics that should be used, in your view, in measuring Toronto Hydro's reliability.


So I was curious, if these aren't the ones, do you have any view of what the appropriate measures are that should be used to judge your reliability?  I can finish off the question.  You can take it in three parts.


Then if that is the case, what are the current values of these measures, and what are the values, in your view, that would be required in order for Toronto Hydro to be considered -- its reliability to be considered at an acceptable level?  I think the world  -- you know, I think the conversation one of the witnesses gave on Wednesday was, you know, the reliability was consistent with a world class city.  I am probably paraphrasing it, but I think that was the testimony that was given on Wednesday.


So it's really, if these aren't the reliability measures we should be using to judge your performance, what do you think are the right measures?


[Witness panel confers]


MR. BERDICHEVSKY:  So I believe that the comparison in this table would be not fair for Toronto Hydro, from the point of view that it's comparing to smaller utilities than us, Toronto Hydro.


And so I would say that the more fair comparison would be to utilities such as New York or any other cities that are similar to Toronto Hydro.  And so that's -- I believe that the comparison would not be fair.


MR. HARPER:  Okay.  So it's the reliability measures, SAIDI, SAIFI and CAIDI, are the appropriate measures.  It is just if we're looking at who we should be benchmarking you against, if I can use that word in loose terms, you think it is not other sort of -- you would be thinking it would be more appropriate to benchmark your performance against the performance of sort of cities and municipalities of a comparable size to yourself?  Is that a --


MR. BERDICHEVSKY:  Size, one of the factors for sure.


But also -- yes, size is one of the factors, as well as for SAIFI and SAIDI numbers, it is also we have to know what is going into those numbers.  And so I believe by what's happening right now is that I am right now on the reliability discussions with the OEB right now, how have you really come up with those SAIDI and SAIFI numbers.  So there would be another aspect to it, as well.


So SAIFI and SAIDI, if you take just SAIFI and SAIDI, then it is one of the benchmarkings that can be, but really what is behind the SAIFI and SAIDI, what is presented, what is in, what is out, and, as a matter of fact, there is a working group discussion right now - and I am a member of it - that would be a different story.


So one utility measures their SAIFI, put something into it, and another utility measures it differently.


So that's one aspect, and the other aspect is as I provided.  Also, we have to be fairly compared to our peer utilities.


MR. HARPER:  Now, you have concluded that you don't consider your results to be good, and I guess -- so I guess -- well, I take it from that that -- have you done any comparisons yourself of yourself against the other cities that you consider yourself to be reasonably benchmarked against to come to this conclusion that your results aren't good?


MR. BERDICHEVSKY:  Yes, we did.


MR. HARPER:  Is that something you could provide for us to give us, you know, a sense, because otherwise all we're doing is using the numbers that, you know, is used in the material?


So I guess if you feel there is other more appropriate benchmarks and you compared yourself against them, and you think that is the right people to look at, I think that would be useful if you would share it with us.


MR. BERDICHEVSKY:  Yes, sure.


MR. HARPER:  JT2.2.

UNDERTAKING NO. JT2.2:  TO PROVIDE BENCHMARKS THESL COMPARED ITSELF TO.

MR. HARPER:  I would then like to turn to VECC Technical Conference Question No. 32, and this is looking at tab 6(f), schedule 11-28, which is VECC IR No. 28.


Maybe you can just tell me when you're there.


MR. OTAL:  Yes.


MR. HARPER:  Now, in this interrogatory we were asking you a little bit about your cost of failure, and you're talking about you calculated your cost of failure by applying sort of your cost values to the peak load on that transformer in the peak period.


And I guess in the IR we asked a couple of questions about the appropriateness of that, and you acknowledged that a number of the outages don't actually occur in the peak period.  They occur in the off-peak period, about 35 percent of them, if I look at the response to part (b).


Then also that, you know, load does vary during the period.  So if you're looking at megawatt-hours being interrupted, using the peak number probably overestimates the total number of kilowatt-hours interrupted, sort of the fact that only 65 percent of the outages are actually in the peak period to begin with.


And I was just wondering, you know, on a conceptual level, would you agree that based on these assumptions, you are probably overestimating to some extent the cost of failure by using the peak load on the PCC equipment in order to calculate the cost of failure?


MR. OTAL:  Sorry, if I may, I just wanted to reiterate our description of how we're utilizing this peak load, as per our response in VECC Interrogatory No. 28.


We stated that we're using peak load as a proxy to represent the quantities of connected customers that would be impacted by the resulting outage.


This really represents a consistent approach to assessing customer impacts.


And furthermore, this data is available at the level of granularity that is required for its use within the feeder investment model.


By using peak load, THESL's considering the full amount of electricity that is really available to customers, or in this case, that would not be available to customers when an outage took place.


And furthermore, when we perform our planning of the distribution system and when we're deciding what assets to install, what are the new replacement assets that are going into the system, these are selected based upon the peak load requirements of those customers within those respective locations.


MR. HARPER:  Okay.  I understand that.  But would you agree with me that the number that is available to customers is different than what a customer would actually be using during the -- might actually be using during the period of an outage?  If there hadn't been an outage?


MR. OTAL:  What we're assessing here is basically what is possibly and what is potentially available to customers, and then what is not available to customers when that outage takes place.


We really don't know what actions the customers would be taking when that outage takes place.  So I think it is reasonable to consider that we're going to assess the full potential of that electricity, the full potential of what the customer no longer has access to when that outage takes place.


MR. HARPER:  Okay.  I understand your rationale and the approach you're coming from.  That's fine.


I'd like -- actually, I would like to turn to tab 6(e), schedule 10-9.  That's the response to Schools Interrogatory No. 9.


MR. BERDICHEVSKY:  Yes, we are there.


MR. HARPER:  I guess at a high level, this table you provided in response to School Energy Coalition basically was identifying which -- what were the sort of considerations that went into the sort of looking at each of the projects and segments and determining that they were non-discretionary.  And one of the ones you obviously considered was public and employee safety; that's column B in the table there.


I guess I was just curious.  We've now gone through an update and you've changed your proposed spending for 2012 and 2013.  And I guess I was just wondering, for these projects where public and employee safety was a -- sort of a primary consideration, as you have indicated here, have you reduced the scope of the spending or the number of jobs in any of those projects for 2012 and 2013, as a result of the update?


MR. WALKER:  I'm sorry, can you repeat the question?


MR. HARPER:  Okay.  I was looking at this table.  It identifies a number of projects and related segments where public and employee safety was, in your view, one of the main drivers, in terms of having to put that forward as non-discretionary spending in the original application.


I was wondering, as a result of the update that you filed in October, whether any of the ones that were indicated here with an X under public and employee safety, whether the number of jobs in 2012 and 2013 was reduced in the update relative to what you had originally filed in your initial application.


MR. WALKER:  Specific to those jobs?


MR. HARPER:  Specifically to -- well, if you look down the list here, you can see there are a number that had an X related to them because of public and employee safety, B1, B2, B3, you know, B4, B5, B6.


And I guess I was just wondering, if public and employee safety was a driver at the start, did you maintain the same level of jobs in each of these project areas in the update, or did you also in some of these adjust and reduce the number of jobs, and correspondingly the number of spending in the update that you filed in October?


MR. WALKER:  I don't have that information in hand.  But we do -- we would be able to produce it.


MR. HARPER:  Well, if you could do that, that would be useful, from my perspective.


I guess because what I was concerned about is if, from your perspective, the primary driver of this to begin with was safety -- whether it be public's or employees' -- and that was what was driving you, sort of what led you to think that you could now do it on a slower pace or do less of it in these years, if safety was your major consideration.


[Witness panel confers]


MR. WALKER:  Okay.  Sorry, I think I was misunderstanding the question.


We have had reductions in those categories.


MR. HARPER:  Okay.


MR. WALKER:  I can't say all of them, necessarily, but certainly there have been some.


MR. HARPER:  Okay.  And I guess that was a judgment that the -- you made a judgment that the -- you know, the safety considerations, public safety and employee considerations were sort of taken into account, but they weren't -- I don't know what adjective to describe it that doesn't sound... they weren't -- you know, they weren't substantive enough that you basically viewed yourself as having to maintain the same level of spending on these?  Like, these were must-do regardless, because obviously you have reduced your spending in a number of jobs in some of them?


MR. WALKER:  Well, the reduction in the spending was not on the basis of that safety criteria.  It was really on the basis of the executability of those projects.


So given what transpired in the course of this year, there were jobs that we were not able to execute in the time frame left in the year, and even though those are potentially jobs that have a safety-related component to them, you know, we're not abandoning them but we're executing them in the most efficient manner that we can.


MR. HARPER:  So it would be fair to say the ones you couldn't undertake in 2012, you've now just moved to 2013?


MR. WALKER:  That's right.


MR. HARPER:  By the end of 2013 you will have completed the same jobs as you originally anticipated in your original filing as completed over 2012?


MR. WALKER:  That's right.


MR. HARPER:  Okay, I understand.  Thank you very much.  Thank you.  Those are all of my questions.  Those are all of my questions.


MR. MILLAR:  Mr. Harper, was there an undertaking at the end?


MR. HARPER:  No, I think the answer I got for that was satisfactory.  Thank you.


MR. MILLAR:  I think Staff is prepared to go next.  Sorry, Mark, you had your hand up?  Sorry, I can't hear you.


MR. RUBENSTEIN:  Can I go before you?


MR. MILLAR:  Sure.

Questions by Mr. Rubinstein:

MR. RUBENSTEIN:  I want to follow up on some questions from Mr. Harper.


If I could take you to Schools 15, and this is at tab 6F, is schedule dual 10-15.


MR. BERDICHEVSKY:  Can you please repeat?  Sorry I missed it.


MR. RUBENSTEIN:  Sure.  It is School Energy Interrogatory No. 15.  This is at 6F, schedule 10-15.


I can read it.  It is not very long, if that's...


MR. BERDICHEVSKY:  Sure, go ahead.


MR. RUBENSTEIN:  We had asked:

"For each project and project segment, please provide a chart that shows from 2008 to 2014 how much the applicant has spent or is seeking to spend on like or similar projects."


Your response was:

"The projects and project segment in THESL's present application cannot be directly compared with capital portfolios set out in the previous applications.  Please see THESL's response to SEC Interrogatory 6."


Which was an interrogatory asking about how you took sort of internally from the 2011-0144 application to this ICM application.


Essentially, I want to follow up on discussions you had with Mr. Harper and on Wednesday with Ms. Grice about the comparability between this application and previous applications, at least for the Board to get the sense -- the Board and intervenors to get a sense of, on similar projects or similar project categories in past years, what the spending was and how it compares.


This morning you had a discussion with Mr. Harper and you said, Well, it's very hard.  You can't do that.


And I -- hard or not, I think it is very important that the Board has that sort of information.  So I am going to ask for an undertaking that you attempt as much -- to do it, and it is in your prerogative to provide qualifications to that to say why you don't think it actually does match.  But I think clearly this is important information for the Board and intervenors to see.


MR. CASS:  Well, Mark, you have just asked for an undertaking for the witnesses to do something that they said they can't do.


Perhaps we could just leave it -- you leave it with us.  We will do the best efforts to provide something that would be useful, but I don't think an undertaking can be given to do something that the witnesses say they can't do.


MR. RUBENSTEIN:  Well, I mean, the term he used was it is very hard.  So I take your point, and I will ask for an undertaking for sort of, you know, a best efforts to provide information that allows, you know, comparisons of past spending.


I understand that there are some projects which -- with your discussion earlier with Mr. Harper, that you have never done before, and I think you used the SMD 20 switches.


But clearly with respect to, say, you know, box construction projects -- I will use as an example you've done some voltage conversions before in the past, or, you know, in your overhead infrastructure category or segment, you know, you've done some feeder rebuilds in the past.


So you can compare some of these sort of things.


MR. BERDICHEVSKY:  Yes, I can answer to this.


So if you're specifically targeting box construction, for example, right, so -- and you said voltage conversion, right?   You have to understand, and like I said -- I answered before that we are comparing apples and oranges, and I will give you an exact -- an example for.

Box construction, that is right, we were doing before.  There were a lot of criteria why we were doing this.  One of them was voltage conversion.


Now we are not doing box construction as we were doing before for the voltage conversion purposes.  Now we're doing just the critical portion of this box construction that includes primarily the safety issues that we are talking about.


And so this is why I'm saying that even if I will try to attempt it and I will go really back to all our applications and go down to the detailed level of assets and everything else, and go back, I don't even think that even if the best effort -- and it's not that I am trying not to do this.  I would be very happy.  I want to be helpful and everything, but it will not provide a meaningful comparison, type of thing.


And any numbers I will come up with, they will not be meaningfully compared, for exactly this reason that I just said, that we are in a different regime.


So our thinking -- not only thinking -- analysis and criteria that we used for this application is really, really stringent.  We were doing projects that really just must do and you provided a great example.  Voltage conversion on its own would not be a driver for this type of application, and, therefore, like I said, that it will not be truly comparable.  And the information that I will do my best to provide is -- I don't think it will be really meaningful for comparison.


MR. RUBENSTEIN:  Well, clearly I would disagree with that.  I understand that Toronto -- it would your position you can't compare them, but I think it is important on this record that we have those sort of comparisons, and there could be a discussion later if it matters or not.


But I think it is very important information.  So I will ask for that undertaking to do it, and then you can tell me why, you know, you can't match all of these sort of things and provide examples.


Like your answer you just provided me, that's fine.  You have the prerogative to do that.


MR. CASS:  Well, I think we have taken it as far as we can, Mark.  You have asked for an undertaking.  The witnesses made it clear that they can't do what you have asked for.  I don't think we can take that any further today.


MR. RUBENSTEIN:  Can you map it or -- so back to -- so if we can get an undertaking for the best efforts that we were just discussing before?


MR. CASS:  Well, I think Arthur's response was even if he put his best efforts into it, he doesn't think he can come up with anything meaningful in response to what you are requesting.


MR. RUBENSTEIN:  So that's a refusal?


MR. CASS:  Yes.


MR. RUBENSTEIN:  Okay.


Can you map it to -- back to your capital plan, your ten-year capital plan that you have -- that Toronto has?  Can you map these projects back to the plan?


MR. BERDICHEVSKY:  I believe that the interrogatory that you were just citing does that.  That capital plan included the cost of service scenario in 2011, and we now are in 2012 IRM.  And so the interrogatory that answers to this, exactly does that what you are asking right now.


MR. RUBENSTEIN:  So your ten-year capital plan is premised on cost of services, not just sort of -- it's based on sort of the cost of -- you know, sort of a regulatory structure, not just based on some sort of internal idea of how Hydro One is going to do its capital planning over a ten-year period?


MR. BERDICHEVSKY:  The capital plan is based on the capital plan -- on asset management methodologies, and I would cite - and consultants would agree with me and others would agree with me -  best business practices in the industry.


So our capital plan was done based on asset management methodologies that Toronto Hydro utilizes, including asset condition assessment, including feeder investment model and all of those.


So this capital plan was presented as part of cost of service.  So I just want to clarify that cost of service does not drive our asset management plan.


We just presented it under circumstances of the cost of service, and now we had to modify it to make sure that we are doing only the essential work that we really have to do, and so this is what we've done.


MR. RUBENSTEIN:  All I was suggesting was -- or asking was sort of the structure within it of how you framed all of those inputs that you are talking about is based on sort of the cost of service structure.  Is that -- would that be sort of a fair understanding of what you were saying?


MR. BERDICHEVSKY:  No, no.  Asset management plans are done based on asset management methodologies, and capital plan is being done based on this.


So just from the relation point of view, I would like to make clear that it's not that the cost of service drives the plan.  The plan was presented in the environment of cost of service, but it's not the cost of service drives the plan.  So the relationship type of thing is probably -- it is one way but not the other way, so...


MR. RUBENSTEIN:  I think we are actually saying the same thing, so I will move on.


MR. BERDICHEVSKY:  Sure.


MR. RUBENSTEIN:  If I could take you to Staff 10, which is tab 6(a), schedule 1-10?


And essentially, the interrogatory was asking about -- if you can describe what Toronto Hydro will do if you are not granted the ICM.


I was wondering if you could provide a list of which projects, segments, jobs that the applicant will still do if you're not granted the IRM -- I mean, sorry, the ICM for 2012 and 2013.


MR. BERDICHEVSKY:  Please ask the question once again.


MR. RUBENSTEIN:  Sure.  I was wondering if you can provide a list of sort of the job segments and then sort of broken down to the jobs that you, that Toronto Hydro will still do if the Board does not grant the incremental capital module for 2012 and 2013.  I mean, 2012, I guess, we're already late in the year, but -- 2013.


MR. BERDICHEVSKY:  I don't believe this question is to me.  I'm here to discuss technical issues that -- you know, like, what we have to do.  And so we put forward what we really have to do, must do in order to keep the lights on type of thing, right?  To keep the same reliability, keep the system going, to have the safety of our employees and public.


I cannot -- it would be pure speculation on my part right now to say what Toronto Hydro would do if they're not granted the ICM.  I am here to -- to defend the plan.


MR. RUBENSTEIN:  No, I understand.  But if you are not granted the ICM, all those considerations you're still going to think about, right?  Got to keep the lights on, all those sorts of things that you believe will happen if you are not granted this ICM.


So in 2013, if you're not granted that funding, you're still going to do projects.  I mean, it talks about -- in this interrogatory response, you talk about, you know, your -- about sort of in a broad sense of sort of the considerations that Toronto Hydro is still going to undertake.


But I assume at least some of these projects will be undertaken?


MR. BERDICHEVSKY:  I believe that -- I truly believe and stand by it that each and every project that is in this application is absolutely a must-do project, and therefore these are all -- must be done.


Really, like there is no -- going even lower than that and, you know, it will be -- I cannot speculate on behalf of Board whether the Board will approve or disapprove this application.


So I am telling you that it will be very hard for me to tell that box construction that is a safety-related issue is a more safety-related issue than rear lot, which is also a safety-related issue.


So these are all equally, I would say, very -- these are safety issues.  We have to -- we have to do this type of work, and I will not be able to speculate on a what-if scenario type of thing.


MR. WALKER:  Can I ask a clarifying question?


MR. RUBENSTEIN:  Sure.


MR. WALKER:  When you're saying this, are you asking if we didn't get the entire ICM, or some portion of it?


MR. RUBENSTEIN:  Let's say -- no, let's say the entire ICM.


MR. WALKER:  So if we were put back to depreciation as our funding level?


MR. RUBENSTEIN:  Well, we can have a debate about that, but I...


[Witness panel confers]


MR. WALKER:  I don't think we can say at this point which particular jobs we were going to do.  That's going to be an execution decision we're going to have to make at the time, based on the circumstances that we have at that time.


We will -- at a low level of funding, we'll be doing the most critical work that we need to do to keep, you know, our reliability as best as it can be, and it will be a different situation than we're in currently.


MR. RUBENSTEIN:  And you don't know at this time which one of those critical projects that will be?  I understand your position is all projects are necessary, they're all -- you have to do them all.


But, you know, there are different levels of sort of non-discretionary projects that Toronto Hydro would have to make that decision at that time for the same -- for the reasons that you just talked about, the most critical projects.


So I am trying to understand, well, two things.


One, I would like to know what those projects are that you think -- you think -- I understand we're not -- it's not 2013 yet.  You're not in that situation.  You think that they will be -- and exactly what the process will be, sort of what your process will be in sort of making that determination, or have made that determination.


MR. CASS:  Mark, the first part of your question, I think, has been answered at least a couple of times, that they don't know at this time what those projects will be.  And it will have to be addressed at the time of the Board decision.


The second part of your question, I don't know if there is an answer to that, about a process.


MR. WALKER:  I am not clear on what you mean by "process," to be honest.


MR. RUBENSTEIN:  I mean, if you can sort of elaborate on -- at that point, if we're -- if you're in that situation, the capital planning people, you guys, will have to sort of make these decisions.  And what is sort of the things that you will take into account?  I am trying -- help me understand sort of the project prioritization that you will have to make in that situation.


MR. BERDICHEVSKY:  When we are thinking about the projects, we are taking into account -- we are taking a lot of things into account, right?


But I will just repeat the five high criteria that we are taking into account.


And this is statute, code or external requirement that we are obligated to do; that would be projects like our customer connections and this nature, right?


There is another one is public, employee and safety.  We have to make sure that we are not exposing our crews to safety issues, and we have to make sure that we are not exposing public to unnecessary safety issues.


Another one is reliability degradations.  We will be looking into reliability and, you know, trying to do the most to keep, you know, the reliability at the level that it's currently at.  And I believe that this application does that, just to keep -- not to improve, but just to try to keep the reliability at the level that it is right now at.


Some imminent capacity shortages that we have to address, this would be another one.


And that's what are the -- I think that we believe -- it is obviously beyond than just those criteria, but those are primarily the drivers that I would -- that we will be looking at.


MR. SADEGHI:  If I may add, what we're trying to say is that all the ICM business cases that have been submitted are all non-discretionary and urgent from our perspective.


If I could use the analogy of a car, you can't differentiate between the importance of the steering wheel against the wheels.  Those are all the components that are just as necessary and important for you to have a reliable and functioning car.


And from our perspective, all the projects, all the ICM projects that have been proposed are as important to the reliability and the safety of our system.


MR. RUBENSTEIN:  Well, using that analogy, if I had a shaky driving wheel and a -- you know, I have a blown tire and I can only fix one of them, I will have to sort of come to some sort of process to pick which one I think is more important, which one is more urgent.


MR. SADEGHI:  It is our position that they're all as important.


MR. RUBENSTEIN:  I understand.


MR. BERDICHEVSKY:  If you're going through this analogy, I would believe you will not be driving the car at this point in time.


[Laughter]


MR. RUBENSTEIN:  If I could take you to -- sorry, one second here – Interrogatory -- this one should be very quick.  This is Staff 31, which is 6F, schedule 1-31.

I was wondering if you could simply undertake to provide appendix A and B in an Excel format.


[Witness panel confers]


MR. BERDICHEVSKY:  So what is the question?


MR. RUBENSTEIN:  Can you undertake to provide them in an Excel format, appendices A and B?


MR. BERDICHEVSKY:  Sure.  Yes.


MR. MILLAR:  JT2.3.

UNDERTAKING NO. JT2.3:  TO PROVIDE APPENDIX A AND B OF STAFF 31, 6F, SCHEDULE 1-31 IN EXCEL FORMAT.

MR. MILLAR:  Mr. Rubenstein, we are approaching time for a break.  Do you have a lot left?  Would this be a convenient time or are you just about finished?


MR. RUBENSTEIN:  I have about five minutes.


MR. MILLAR:  Teresa, could you go five more minutes?  Why don't you finish up?


MR. RUBENSTEIN:  The last area I just want to discuss is sort of a follow-up with some questions and answers you had with Mr. Harper earlier and with respect to reliability issues.


This was with respect to your belief that the normal Board metrics -- you shouldn't be compared to other Ontario distributors, but you should be compared to sort of New York or other cities like that.


And I was trying to understand if you could sort of provide more detail of why it is your belief that sort of the CAIDI or other such metrics, you shouldn't be compared to, say, you know, other large distributors in the province, PowerStream, Ottawa, Horizon.


MR. BERDICHEVSKY:  There would be many criteria to going into answering this question, but I will just stay at a high level and answer.  PowerStream, for example, as you mentioned, they don't have TSX, this type of customer that we are providing with.


New York, on the other hand, has New York Stock Exchange; right?  Imagine that power fails to TSX.  What would be happening?  I believe it sometimes happened already.  The size of the customers, the businesses themselves that we are providing to, hospitals, you name it; right?


So we can start a discussion on this and going back and forth, but I think that really in any - how can I say it - publications even, right, Toronto is a city is compared even beyond just electricity, in anything, is compared to large cities such as New York, London, Tokyo, right, because it operates on the same level as those cities.


So I think -- I strongly believe that that should be the fair comparison, because Toronto on its own competing with those cities, and so we should be competing with those cities on the distribution of electricity, as well.


MR. RUBENSTEIN:  Sorry.  I mean, I admit that there are obviously some unique characteristics of Toronto versus Ottawa.  Ottawa doesn't have a stock exchange.


MR. BERDICHEVSKY:  That's right.


MR. RUBENSTEIN:  But for, say, a school or a small business, convenience store, or, you know, even a hospital, they all have all of those sorts of things.  So, you know, an hour of lost power in any of those things, it would be the same.  It's the same sort of effect in Toronto as it is in Ottawa, as it is in Vaughan or any such area.


MR. BERDICHEVSKY:  I would disagree with this statement.  Same, you know, if you're going that route, for example, let's say property taxes.  Why are we paying property taxes in Toronto higher than they are paying in Ottawa, for example?


So it would be the same comparison type of thing.


MR. RUBENSTEIN:  I would disagree.  Anyways, thank you very much.  Those are all of my questions.


MR. BERDICHEVSKY:  You're welcome.


MR. MILLAR:  Okay, thank you, Mr. Rubenstein.


We will take our break now and come back at 11:15.


--- Recess taken at 10:57 a.m.

--- On resuming at 11:15 a.m.

MR. MILLAR:  Why don't we get started again?


We will go now to Staff, and then I think Mr. Harper actually had a follow up question.  Then, Dr. Higgin, you had a couple of questions; is that right?


DR. HIGGIN:  Yes, that's right.


MR. MILLAR:  Is there anyone else for panel 1A?  Okay.  Thank you.


Mr. Mikhail?

Questions by Mr. Mikhail:


MR. MIKHAIL:  Okay.  The first area I want to touch on is -- I think others did touch on, but I want to clarify a few things.  It's regarding the discretionary versus non-discretionary.  So the first reference is Schools No. 9, which is in schedule 10-9, tab 6(e).


Basically, in the response there was a nice table on page 2 that maps out the various segments and the five criteria for determining whether a segment is discretionary versus non-discretionary.


When I look at that map, I see a big link between imminent reliability degradation and public and employee safety; almost every segment that has one has another one, except some of the segments down on B15, 16 and 19.


On Wednesday, there was an exchange on the underground infrastructure, which is B1.  Some of the system elements -- the underground transformer, for example -- from the exchange, it was established that it was really enhancement to reliability that was one of the items that were -- sorry, one of the reasons why Toronto Hydro is going on with that replacement, because they were non-standard transformers and the standard ones have better features for restoring power to customers, in terms of -- in case of contingencies.


So I would see within many of the segments, we have that kind of situation where some of the system elements are really for improvements and not for a must-do.  So would that be a reasonable way to characterize some of the system elements within segments?


MR. BERDICHEVSKY:  So I just would like to -- I would like to answer this question.


I think the criteria that -- not I think.  The criteria that we were using is what -- the must-do ones, and the second one is what is the best way of doing the must-do ones.


And so exactly assets that you were just mentioning, they would follow under the second criteria, what is the best way of doing things.


So for example -- and thank you for mentioning this example with transformers.  It's not a pure improvement.  It would not go under ICM, obviously, ICM regime, to just go and replace those transformers.


However, being in the area and replacing the underground cables and doing all that work that has to be done, I believe as a prudent utility we would also go ahead and do it in the right way, as opposed to just, you know, two, three years downs the road or whenever we need to come back and redo everything, it would be really -- really not cost-effective.


So in order -- we've done the analysis to make sure that we are doing the must-do projects and we are doing it in the right way.


MR. MIKHAIL:  Okay.  I guess it is debatable whether it is cost-effective to replace transformers that are not really, by and large, exceeding their useful life.  Their contribution to the feeder unreliability, from what we gathered from the evidence of the various IRs we looked at, it seems fairly low except for a few, and costing, you know, a sizeable amount of money.  So it is debatable, but I'm not going to go there.  We will leave that to sort of some other means, to make that argument.


Before I leave that IR, I would like to sort of understand a bit better.  Under Bremner, we have one the criteria is the statute, code or external requirement.


Why would that be a criterion for Bremner?


MR. BERDICHEVSKY:  My colleagues from panel 3 probably would be the best ones to answer those questions.


MR. MIKHAIL:  Okay.


MR. BERDICHEVSKY:  So I would better defer it to them.


MR. MIKHAIL:  That's fair enough.


MR. MILLAR:  Panel 3 has already gone, I think.  Do you mean panel 4?  Or is the panel already gone?


MR. MIKHAIL:  No, 3 is not gone.  Oh, has it?


MR. CASS:  The Bremner panel has been up.


MR. MIKHAIL:  Okay.


MR. MILLAR:  Mr. Cass, would this be something that could be done by way of undertaking?  It is identified that there is a statute or code provision that requires replacement, or the work to be done on this station.  It seems to me that is probably a fairly easy thing to pull up by way of undertaking.


Would that be acceptable?


MR. CASS:  Yes.


MR. MILLAR:  Okay.  That will be J2.4 (sic).
UNDERTAKING NO. JT2.4:  to EXPLAIN WHY STATUTE, CODE OR EXTERNAL REQUIREMENT APPLIES TO BREMNER.

MR. MIKHAIL:  Thanks.


MR. RICHMOND:  Perhaps, just to be helpful, I mean, maybe what they're driving at, maybe what Toronto Hydro was driving at there -- and you could incorporate that in your answer -- is the work at Bremner may have to be done in accordance with certain historical Board things.  Perhaps that was what the intent of that checkmark was.


I just offer that to be helpful.


MR. BERDICHEVSKY:  Thank you, Mr. Richmond.


MR. MIKHAIL:  Okay.  And just to sort of understand a little bit better the criterion of imminent reliability degradation, I would like you to turn to VECC No. 11, which is schedule -- sorry, tab 6(f), schedule 11-63.


In that IR --


MR. BERDICHEVSKY:  Just one second, sorry.  If you would give me one minute to find it?


MR. MIKHAIL:  Oh, I'm sorry.


MR. WALKER:  I'm sorry, can we get the reference again?


MR. MIKHAIL:  Oh, it is basically VECC No. 63, which is at tab 6(f), schedule 11-63.


MR. BERDICHEVSKY:  Yes.


MR. MIKHAIL:  If you look at response (a), and I am not going to read the whole thing, but basically it's relating asset condition to expectation, and it says -- in part, it says:

"A very poor asset condition indicates extensive serious deterioration..."


It continues on and it says:

"...that asset should be replaced or rebuilt immediately.  A poor asset condition on the other hand..."


And it continues, and it says it has to be replaced or hence to -- or indicates it has to be replaced or built, sort of initiate a process to do that.


It further goes and says that an asset that is expected to fail within one year would have a probability of failure of 50 percent or higher, and that's referring to a poor asset; right?


So is the expected failure of 50 percent probability within a year, it's something assumed for all poor assets in the FIM and COO probability?


[Witness panel confers]


MR. OTAL:  My apologies, but could you repeat the question once more, please?


MR. MIKHAIL:  I was just quoting from the answer basically just to understand, you know, how asset conditions relate to expectations of failure and, ultimately, how is that reflected in the FIM and COO models that you have?


So that was, you know, like referring to a poor asset condition.  It seems to indicate that the expectation is that there is a 50/50 chance it will fail within the same

-- within the first year.  So I am just asking:  Is that something programmed into your models?


MR. OTAL:  We do have a probability of failure curve that utilizes the age and condition data.


MR. MIKHAIL:  Okay.


MR. OTAL:  So when you do have a health index value, then, yes, that is used to calculate the asset's probability of failure, yes.


MR. MIKHAIL:  So that would differ from one asset class to another, to another?


MR. OTAL:  Depending on the health index value; right.


MR. MIKHAIL:  I'm just saying if it is a poor asset --


MR. OTAL:  If it's a poor asset, so, yes.


MR. MIKHAIL:  It's been classified by Toronto Hydro it is a poor asset within a class of assets.  Would that be always a 50 percent chance it's going to fail in the first year?  Is that programmed into your FIM and COO or is it different?


MR. OTAL:  So the health index -- so depending on whether it is very poor or poor, yes, the probability of failure based upon that condition score would be the same across those asset classes.


MR. MIKHAIL:  So for a "poor", it says here there is a 50 percent chance.  So that is constant along all asset classes?  I'm just clarifying that.  Is that correct or not?


[Witness panel confers]


MR. OTAL:  So referring to the specific reference, it would be a probability of 50 percent or higher.


MR. MIKHAIL:  And, you know, in this particular example here it is for segment B9, and I am just asking:  Does it carry over all asset classes --


MR. OTAL:  Yes.


MR. MIKHAIL:  -- the kind of probability expectation?


MR. OTAL:  The probability would be exactly 50 percent or higher.  It wouldn't be a constant at 50 percent, but it could be 50 percent or higher.


MR. MIKHAIL:  Okay.  So that's the floor?


MR. OTAL:  Sorry?


MR. MIKHAIL:  So that's the floor probability?  That's the minimum probability?


[Witness panel confers]


MR. OTAL:  So just to reiterate, the health index, it is really a score from zero to 100.


MR. MIKHAIL:  Yes, I know that.


MR. OTAL:  We have five categories, and the way that condition -- that age and condition curve comes into play is basically it's dependent on how those assets would be replaced.  If the asset is very poor, we should be replacing it within a year, and that's -- the probability would reflect that, essentially.


MR. MIKHAIL:  Okay, I'm going to carry on.


MR. BERDICHEVSKY:  So health index number will be reflected in the FIM model.


So it could be 50 percent.  It could be 49.  It depends on the condition of that particular asset.


So if I can give you an example, two transformers that could be in very poor category, some can have, for example, 51 percent health index and some can have 53.  It will depend on the specific.  They will be still -- for example, if it is in very poor condition, but one will be -- the health index of one could be depending on the index of this specific transformer.


MR. MIKHAIL:  Okay.  I think that clarifies that, because when I looked at another reference, which is Interrogatory No. 21, also from VECC -- so it's tab 6F, schedule 11-21.  And in this one here, it was a very general question, question (b).


The answer was something to the effect that -- and if you look at answer (b), if I give you time to look at answer (b)...


So are you there?


Okay.  So in answer (b), you are listing almost 14 segments where imminent degradation is occurring, and you finish the response by saying:

"Box construction shows signs of degradation.  Specifying a time frame as to when reliability will degrade is difficult."


Then it goes on and it says:

"However, THESL has determined that many of the assets in question have passed their useful life, suggesting that the likelihood of asset failure will increase in the near future."


So the sense is you can't really put a time line on when it will kick in.  So I think it was your previous explanation that clarifies that a little bit.


[Witness panel confers]


MR. BERDICHEVSKY:  So just to clarify that useful life is based on age and condition is based on the condition of the asset itself.  So those are two distinct concepts.


MR. MIKHAIL:  Right, right.  It's a combination of many criteria, including these two, that will determine that?


MR. BERDICHEVSKY:  That's correct.


MR. MIKHAIL:  Okay, thanks.


MR. BERDICHEVSKY:  Thank you.


MR. MIKHAIL:  And just clarifying some of the earlier questions about the safety and the scheduling of certain jobs, I think that was a response to Bill Harper.


When -- if I understood it correctly, the jobs for 2012 and 2013, the update did not exclude any that have a safety sort of concern; right?


MR. WALKER:  We haven't excluded any work; it has just shifted in time.  So some of it from '13 may have shifted out of '13, as well, but nothing has been excluded.


MR. MIKHAIL:  So that explains that, because when I look at the summary of the update for that particular segment, you went from 22.5 million -- and I am now referring to the update for segment B2, if you look at the summary sheet that is at the front of every segment in the update.


MR. WALKER:  Sorry, can you give me a particular reference that you are looking at there?


MR. MIKHAIL:  Yes.  I am looking at the update sheets that were sent on October 31st for segment B2, which is the PILC piece-outs and leaker segment.


MR. BERDICHEVSKY:  Can you provide the exact -- I'm sorry.  Can you provide the exact reference?  Just...


MR. WALKER:  You are looking at a table, I take it?


MR. MIKHAIL:  Well, yes.  It is basically tab 4, schedule B2 that was filed originally in May and updated October 31st.  It's the summary page that is at the front of that particular segment.  It just follows the title page for segment B2.


MR. WALKER:  So that was tab 4, schedule B2?


MR. MIKHAIL:  Yes.


MR. BERDICHEVSKY:  Can you help -- please help us with the page number?


MR. MIKHAIL:  It doesn't have a – well, it's page, sorry, it is Roman (i).  Roman (i).


[Witness panel confers]


MR. WALKER:  And you're referring to our original evidence, are you?


MR. MIKHAIL:  No.  This is the update.


MR. RICHMOND:  No.  What it is, Michael, is there's a summary sheet -- I think it was filed with the additional evidence -- at the front end of every section.  It's written in a box.  It just gives a summary of what the changes are.


[Witness panel confers]


MR. WALKER:  Okay.  I think I know where you are looking now.  Sorry about that.


MR. MIKHAIL:  Sorry for that.


It's going to be a quick one.  It is basically showing a reduction from 22-and-a-half million for that segment down to 9.4 million, which is a reduction of 13.1 million.


And when I heard your response, I was just saying, I think, what you explained just a few seconds ago, that maybe some of the '13 jobs will be deferred to '14.


But so you're saying none of those that were reduced are posing any public safety... is that correct?


[Witness panel confers]


MR. WALKER:  The fact that the job or the project has moved does not mean that the safety issue has disappeared.  It is still part of that job to mitigate.


However, from an operational perspective, we're not able to do it sooner than the time frame we're talking about.


MR. MIKHAIL:  And is it fair to say that those that you would postpone have less risk than those that you want to do right away?


MR. WALKER:  No, we can't necessarily say that.  No.


MR. MIKHAIL:  Okay.  So they're all more or less of the same risk level?


MR. WALKER:  That's correct.


MR. MIKHAIL:  Okay.  Thanks.


MR. RICHMOND:  If I could just follow with one question, Michael, then if that is the case, then the reason that you've chosen the one, then that would have to do with maybe some locational reasons?  Maybe because it's in a package that you're doing earlier?


There must be some reason that you would select one to do sooner than the other.  And let's say they are both of the same failure consequence, and the reason could be some of these other operational things that you have selected; is that -- would that be accurate?


MR. WALKER:  That is accurate, yes.


MR. RICHMOND:  All right.


MR. MIKHAIL:  My next one is on the same theme, because basically when I look at the hand well segment, I see that the hand well segment was accelerated.  And from what I recall from the evidence, the high-risk areas where hand well were replaced have been taken care of, and what is remaining is really out of abundance of caution and so on.  It didn't strike me as needing to be accelerated.


At the same time, you see that segment B2, which seems to me that it is higher risk than the hand well; it was delayed while hand well was accelerated by a good margin.


I can give you the reference to it, if need be, but if you can give me an idea of -- if my perception is not right, or what.


MR. WALKER:  I think in the case of hand wells, we're using a different set of contractors, who are -- for the scan, for example, that are specialized to that work.  So we're able to carry on with that work more easily.


When we get into the more traditional trades, we're struggling to rebuild our capability from a contractor perspective.  So that's causing us to delay that work.


MR. MIKHAIL:  Okay.  Thanks.  That explains that.  I just didn't understand that.  Thank you.


This next one here is trying to sort of piece together some of the thoughts that go into decisions by distributors like Toronto Hydro, is how prudence and the discretionary versus non-discretionary and ratepayers are weighed by the utility.


So I don't know if that's for this panel or not, but I will ask you the question and you can tell me whether it is or it's not.


So the reference is VECC IRR 24, which is tab 6(f), schedule 11-24.


MR. BERDICHEVSKY:  I would suggest probably let's hear the question, and then we will decide what -- for what panel it would be more appropriate.


MR. MIKHAIL:  Okay.  So I am referring to response to question (a), and basically the question was:

"Does THESL consider year-over-year bill impacts to be an element of the public acceptability constraint noted in the text?"


And they're referring to the pre-filed evidence.  And if not, why not?


And basically the response, without reading the whole thing, is that THESL considered prudence to be achievement of an approach to the lowest reasonable life cycle cost.  And it carries on to say that other constraints include safety of equipment, compliance with standards, including accepted standards of good utility practice, public acceptability and reliability and adequacy of the distribution system, which no one can say that is not part of prudence.


But it goes on further to say:

"THESL regards bill impact as being important, but logically separate from the attribute of prudence."


And help me out with this.  You know, can you discuss how ratepayers' impacts would be taken into account when Toronto Hydro determines the capital expenditures, the levels of that, that it seeks for any given year?  How does it view the ratepayers' take on it, if you want, from a ratepayers' perspective?


MR. CASS:  Having heard the question, it sounds like it is a panel 4 question.


MR. MIKHAIL:  Okay, thanks.


Okay, my next one is about the FIM and COO model.  And basically just for my understanding, you know, do you keep track, on each feeder, which customers are connected to that feeder, in terms of customers by class?


Like, do you know how many are residential versus commercial versus institutions versus perhaps small industrial on each feeder on your system?


[Witness panel confers]


MR. OTAL:  Sorry, could you repeat the question once more?


MR. MIKHAIL:  I just want to clarify whether you keep records or do you have on your system, your sort of customer management system, if I can call it that way, feeder by feeder?  Do you know which customers by class are connected to that feeder?


MR. BERDICHEVSKY:  I will take this question.  From the customer management point of view?


MR. MIKHAIL:  Yes.


MR. BERDICHEVSKY:  We do track it.


MR. MIKHAIL:  Okay.


MR. BERDICHEVSKY:  For the FIM purposes, we are taking the installed load capacity on those feeders.  So the FIM looks at the loads.


MR. MIKHAIL:  How difficult it is to incorporate that kind of refinement to the model?  So when you are considering interruptions on a certain feeder, then you would know which customer classes you're interrupting.  Is that something that is being considered in the future, or not?


[Witness panel confers]


MR. OTAL:  So we're always continuously improving our systems, and that would also include the information about our customers from a customer management perspective.


MR. MIKHAIL:  Right.


MR. OTAL:  And so as we see further refinements to that data, we will definitely consider those as part of continuous improvements to all of our AM planning systems and tools.


MR. MIKHAIL:  Okay.  How many feeders exist, just approximately, on your system?


MR. BERDICHEVSKY:  I believe it is 1,600 feeders.


MR. MIKHAIL:  Okay, 1,600 feeders.  So to include that is not a job that can be done in a day or two, of course?


MR. BERDICHEVSKY:  Of course not.


MR. MIKHAIL:  Of course.


MR. BERDICHEVSKY:  Yeah.


MR. MIKHAIL:  No, I can fully understand that.


The reason why I am asking is simply the following.  You are attaching a dollar value for interruptions; right?


So you have, I believe -- if my memory is right, it is $30 per kVA and $15 per kVA.hour, so for however duration there is.


And I think it is reasonable to expect that the cost to residential customers from interruptions is quite different from a commercial load and quite different, again, from institutions that are sensitive to certain interruptions, you know, especially during the peak hours?


MR. BERDICHEVSKY:  That is correct.


MR. MIKHAIL:  And, again, from industrial.  And so when you look at the macro level of taking these two numbers to represent all load is of course not reflective of what is happening when an interruption occurs, so that's the reason why I am asking.


It's not to say that the model is not a good model.  It is obviously very nicely structured, and so on, but I could see that there is a lot of areas that are indicative of a micro -- sorry, a macro level evaluation.


And you can compare maybe alternatives, one to another.


MR. BERDICHEVSKY:  So just to answer this, those customers, when you're talking about residential, commercial, industrial, they are represented within the model as loads.


So when an industrial customer gets an outage, obviously their load is way more than residential ones, and, therefore, in the model to be represented as obviously more costly than the residential, which are smaller loads.


So 100 percent, like my colleague Robert Otal just said, we are improving the system itself, but for meanwhile I think it could be a good proxy, the loads themselves, to differentiate between residential, commercial and industrial.


MR. MIKHAIL:  No, I read that and I understand that.


But this is like an approximation, and the following question is:  Those two numbers, those units costs that you used, did you arrive at them by looking at the cost to the various sectors or various classes and you weighed them?


How did you arrive at the two numbers, the 30 and the 15?


MR. OTAL:  So if I may direct you to OEB Staff Interrogatory No. 27?


MR. MIKHAIL:  Yes.


MR. OTAL:  Part (c), we provided a response.  The question was:

"Please provide the supporting evidence and calculations justifying this cost."


And in that response, we indicated that the customer interruption costs applied by THESL as part of every FIM and COO business case, they were developed with consultants who have worked with other utilities in establishing similar parameters.  Reliability valuation studies such as those from Roy Billinton were used to aid in the development of those parameters which are applied consistently to quantify power interruptions to all types of customers.


MR. MIKHAIL:  No, I'm familiar with that.  But that really doesn't give me much sense of how you weighted the various customer classes, the costs to them when they're interrupted, into those two numbers, unless you have a paper or some document that you can share with us?

[Witness panel confers]


MR. OTAL:  Sorry, could you repeat the question once more?


MR. MIKHAIL:  Well, in Board Staff No. 27, the one you referred to, it gave comparison of what you're using compared to other entities, but it doesn't really answer the question I was asking, of how did you arrive at those numbers.


Do you have a paper to share with us, or some study or some evaluation?


MR. OTAL:  So again, those numbers were based on the examination of these various reliability valuation studies.  Particularly through the Billinton studies, we were able to establish, you know, what is happening to a customer when the customer sees that outage.  And that's where we gained the understanding of the two stages that the customer will go through when an outage takes place.


The first one, the event first takes place, and they're immediately disconnected from all their activities involving electricity.


And the second stage, the duration, where they adjusted their activities to not involve electricity, but obviously their inconvenience will continue to grow as the outage continues to linger.


So this approach and the values we have selected essentially are applied consistently to all customers within our system.


What's the key differentiator is the load in kVA.


And further to that, the table 1 that's provided as part of that interrogatory response shows how our number falls within range of other valuation studies and their numbers within the same format, essentially, in terms of, you know, treating all of the customers with the same values.


MR. MIKHAIL:  Okay.  Just one more.  Correct me if I'm wrong, because I may be misunderstanding something.


Roy Billinton, of course, is one of the fathers of evaluation of impact of risk of unsupplied energy in events of contingencies.


But from what I understand, that they do surveys to assess the impact of interruptions on the various customer classes and so on, did you guys do some of these surveys to sort of follow up on his structure of assessing the impact of unsupplied energy?


[Witness panel confers]


MR. OTAL:  No, we have not yet conducted specific surveys for Toronto.


MR. MIKHAIL:  So that would be some of the enhancements that you would be looking forward to do?  Okay.  That satisfies my curiosity about this, so thank you for that.


My next question is about operations capital, and it is just clarification and getting some breakdown of some costs.  So I would refer you to basically the updates for the operations capital.


It's very simple.  If we go to tab 4, schedule C1, the updates at page 1?


MR. WALKER:  Okay.  I think we have it.


MR. MIKHAIL:  Okay.  And for the components listed in there, from engineering capital down to continuing projects and emerging issues, we would like to get a breakdown.  Basically, for the engineering capital, I think it is mostly engineering time and technologists' time and so on.  So if we can get a breakdown of that into labour and overhead for that particular segment?  Or, I should say, category?


And for the rest of them, if we can get the breakdown between material, labour and overhead, I would appreciate that, if that is possible.


MR. WALKER:  I think that would be better done by panel 4.


MR. MIKHAIL:  Okay.


MR. WALKER:  But I do want to understand, when you say "labour and overhead" --


MR. MIKHAIL:  For the engineering capital, it is mostly, I think, engineering time and technologists' time and so on, so labour and overhead would be okay.


And for the rest of them, if we can get the material, labour and overhead, the three elements?


MR. WALKER:  Okay.


MR. MIKHAIL:  Okay.  Thanks.  So that will go to panel 4, you said, right?


MR. WALKER:  That's correct.


MR. MIKHAIL:  Okay.  The next one is, again, a simple one, some breakdown of costs.  I would refer you to Board Staff 72, which is tab 6(f), schedule 1-72.


MR. WALKER:  Okay.


MR. MIKHAIL:  Okay.  So for that table provided in response to that IR, it has six categories of activities, and its IT hardware asset categories.


It provides information on it, in terms of expected useful life and the percentages of those assets that are beyond that on -- for the three years.  We would like to get the costs of each of them.


MR. WALKER:  We're going to have to refer that to panel 1B.


MR. MIKHAIL:   One?


MR. WALKER:  1B.


MR. MIKHAIL:  Yes, okay.  I am done.

Questions by Mr. Davies:


MR. DAVIES:  I had a question for the panel on -- it relates to tab 6E, schedule 11-16, which is the VECC No. 16 that we've discussed a couple of times before this morning.


MR. WALKER:  Okay.


MR. DAVIES:  It relates to the table showing the forecast capital spend and the in service and not in service.


I think you said for 2012 that of the 162.06 million that was not in service by the end of 2012, that all of that amount, except for the Bremner project, would be in service by the end of 2013?


MR. WALKER:  That is our expectation, yes.


MR. DAVIES:  Now, when you go to the 2013 numbers, the table shows that, for 2013, 295.34 million will not be in service by the end of 2013.


Would the same situation apply with this amount, that all of it except for Bremner would go into service in 2014?


MR. WALKER:  I'm not an expert on Bremner, but I believe Bremner is expected to go in service in 2014, subject to confirmation from that panel.


MR. DAVIES:  So then is it true to say, then, that the entire 295.34 million would be expected to go into service in 2014?


MR. WALKER:  Well, right now, for 2014, we've assumed that all jobs that were in 2014 or that have carried into 2014 because of this update would still take place in 2014.


But I think we would have to defer that to when we submit our update for 2014 and we can validate it then.


MR. DAVIES:  Okay.  Would you be the panel to ask questions about the regulatory implications of the treatment of in service assets, or would that be panel 4?


MR. WALKER:  That would be panel 4.


MR. DAVIES:  Okay, thank you.


MR. MILLAR:  Mr. Higgin?

Questions by Dr. Higgin:


DR. HIGGIN:  Okay.  I'm in a very difficult situation.  I'm standing between everybody and lunch.


[Laughter]


DR. HIGGIN:  And, secondly, my colleague, Mr. Faye, who is an electrical engineer, where I am a chemical engineer, has left me this question for this panel.


However, fortunately it's not a technical question.  So could we look at Energy Probe TCQ No. 2?  And the reference there, as cited in the question, is actually wrong.  It should be tab 6F, schedule 1-12, not 1-11.


Just by segue, this is a question about customer communications, and the context specifically that he's asking for is relating to rear lot to front lot conversions.  So that's the context in which he's asked the question, and that is what the IR asked about, so that's where we're going, okay?


MR. WALKER:  Okay.


DR. HIGGIN:  You have that?  So the first thing is to understand what you have provided to us in that particular context.  You provided five letters in the attachment to the IR, okay?


And, first of all, these five letters, are they the only, or are they just a sample of communications to customers?  And, very specifically, letter 1, which he is related to rear lot to front lot conversion, is that the type of communication or is that the approved THESL letter for those customers?


MR. WALKER:  This one is -- this first letter is the one that we send out for rear lot to front lot conversions.


DR. HIGGIN:  That is the context that Mr. Faye, as you know, had been working on for his questions.


MR. WALKER:  Yes, yes.


DR. HIGGIN:  Okay.  So now is there a second letter that goes to those who are scheduled for some sort of surface pad-mounted transformer or switch installation?


MR. WALKER:  Yes, there is.


DR. HIGGIN:  And is that comparable to letter 5 in this bundle?


MR. WALKER:  Yes.  That would be if they were getting an above-ground or pad-mounted transformer in the case of number 5.


DR. HIGGIN:  So just inform me.  Some of these are big and some of them are small.  It depends.  For front lot conversions - and I will tell you why I know - some of them are not that big, and then also there are underground switches, vaults, that are also installed, as well, as part of that conversion, am I correct, on some lots, or should we say the boulevard adjacent to some lots?


MR. WALKER:  You said underground?


DR. HIGGIN:  There are -- as well as pad-mounted --


MR. WALKER:  Yes.


DR. HIGGIN:  -- and this is a big pad-mounted.  This is 6-foot high, according to the letter.  There are smaller ones, right, used for those front lot conversions; correct?


MR. WALKER:  Yes.  This letter is actually referring to the switch itself, not the transformers.  The transformers are the ones that are typically smaller.


DR. HIGGIN:  Okay.  And those are pad-mounted, again?


MR. WALKER:  They are, yes.


DR. HIGGIN:  So customers that are going to get one of those - and I am going to come to that in a minute - are they separately notified that that's going to happen?


MR. WALKER:  Yes, they are.


DR. HIGGIN:  What about a customer that gets a vault with, I guess, switches or connections on their lot?


MR. WALKER:  Yes.  They get one, as well.


DR. HIGGIN:  They get a separate letter?


MR. WALKER:  Yes, they do.


DR. HIGGIN:  Okay.  Now, how many customers get these letters?  Is it only in the one whose lot abuts the right of way, or, in this case, the city boulevard property, or is it everybody who gets in line of sight?


MR. WALKER:  If it is a pad-mount arrangement, we are required by the city's municipal consent requirements to provide it for anybody who is within line of sight, as well.


DR. HIGGIN:  Are you sure that that happens?


MR. WALKER:  Yes, I believe it does.


DR. HIGGIN:  Okay.  Well, I won't give evidence here, okay, but just be sure it doesn't.


The second one is that -- going in the sequence, when the contractor enters the area, do you require the contractor to communicate with the customers, and what form does that communication take?  So, for example, power line, for example.


MR. WALKER:  There are several different kinds of communications that we provide, and I'm not 100 percent sure of how power line goes about it, but there is typically something that gets handed out when construction starts, and I do believe it is our contractor that does that.


DR. HIGGIN:  Would you like to perhaps verify, if you would, by undertaking, just what communications the contractor would make with the customers as the project starts and commences?


MR. CASS:  Excuse me, Roger.  I'm sorry I'm missing it, but how is this going to help the Board with the ICM application?


DR. HIGGIN:  Well, I think it comes back to the fact that in some cases there may have been -- and we're not going to get into it here, it's a technical conference, in cross-examination -- inadequate communication with customers on some of these projects.


MR. CASS:  But I am missing what's that got to do with whether the Board would approve the ICM application or not.  That may be an issue, but --


DR. HIGGIN:  But I -- you are dealing with cost consequences only.


There are the customers who are impacted by these projects, and that's what Mr. Faye is -- as you know, that is his thing.  He believes that there are impacts which are not quantified for front lot conversions.


MR. CASS:  All right.  Perhaps we will take that under advisement, and we'll consider whether we're prepared to answer that or not.


DR. HIGGIN:  Right.  Okay.  And a follow-up corollary question is:  If there is a delay because of circumstances -- whatever they may be -- when a project has been started, and then the project may be shut down, is there another set of communications that are, then, required -- both of the contractor and of the utility -- to say, in effect:  Our schedule is no longer as you were advised, and that there is delays, et cetera, et cetera?


MR. WALKER:  Yes, I believe there is.


DR. HIGGIN:  Okay.  Thank you.


All right.  So that is that question.  Thank you very much.  I am going to ask one follow-up question, which I was asked to talk about.


This is this question of what happens if the ICM, as you filed, is not approved.


You talked about the need to review the 2013 project plans.  So could you just give us a little more on how that review is conducted and, importantly, who will make the ultimate decision regarding which projects will proceed, in that case?


[Witness panel confers]


MR. CASS:  Roger, perhaps you could put that question to panel 4.


DR. HIGGIN:  Sure.  That's fine.  Okay.  Thank you.


One last one, with respect -- as Mr. Walker knows, this -- the Board has been reviewing the system reliability, and one of the key topics that came up at that point was we're in a new regime due to smart meters.


My question is:  What plans, then, how will those -- the fact, the availability of smart meters for the residential and commercial, allow you to know how many customers were interrupted and what loads were interrupted during those interruptions by feeder?  That comes back to Nabih's question about improvements to the feeder model and so on.


So could you just address that question as to how that's going to affect how you proceed in future with the feeder model?


MR. BERDICHEVSKY:  I'm sorry, can you please repeat once more, one more time, the question?


DR. HIGGIN:  Yes.  Okay.  So in the last five years, you've installed smart meters for residential and commercial customers.


One of the facilities of those meters is to let you -- and the customer, of course, but let you know when an interruption has occurred, how long the duration of that interruption was, and the loads that -- customers and loads that were impacted; by feeder, if you want to do it by feeder.


[Witness panel confers]


It is not currently that we have in the model, but it is something that we will definitely consider in the future.


DR. HIGGIN:  The data from those meters is acquired, amongst others, by the IESO, and there is a repository for those data.


So the data are there to allow that analysis by feeder.  For example, it would feed into your analysis of worst performing feeder, and so on.  The data are there to allow that analysis?


MR. BERDICHEVSKY:  Sorry, can you repeat one more time the question?


DR. HIGGIN:  Well, it is my understanding that as well as installing smart meters to inform the customers and the consumption, there is -- those data are now collected in a central repository as to the performance of the system and so on, and those information are potentially available to be analyzed.


MR. BERDICHEVSKY:  I believe that meter experts would be able to provide the answer, a better answer.


But if I have to answer this question, I would say that we started to install smart meters in 2006, and some of them might not have this real-time type of capability of communicating the data back to the office.


So we are working on it, definitely, but our earlier meters, smart meters, would not -- I believe would not have this type of capability in real time.


DR. HIGGIN:  Okay.  Thank you for the information.  Those are my questions.  Thank you, Michael.


MR. MILLAR:  I think we just have two quick final questions, and then we will break for lunch.


Bill, you had a follow-up, I think, and then, Tom, you had one question; is that right?


MR. HARPER:  Actually, Mr. Mikhail in his line of questioning addressed my follow-up.  Thank you very much.


MR. MILLAR:  Okay.  So, Tom, do you just have a quick one before lunch?


MR. BRETT:  I just have one quick question to you, panel.


And that is:  Can you say how much of your planned capital expenditures in your proposal here for 2012 and 2013 would be carried out by internal personnel, staff, at Hydro, and how much would be carried out by outside contractors?  Is that information in the evidence at any point?


I apologize if it is, and I haven't got to it yet.


MR. WALKER:  It is in the evidence.  It is in there.  I am just -- if I can have a moment to find it?


MR. BRETT:  Well, if you wish, you could take an undertaking just to advise where it is, or take your time.


MR. WALKER:  Okay.  If I could refer you to tab 6(b), schedule 4-1?


MR. BRETT:  Right?  Yes, I don't have that piece of --


MR. WALKER:  Okay.  Sorry, sorry.  Yes, it is CUPE 1.


So were you asking -- were you asking -- maybe I should ask for the question again.


MR. BRETT:  Well, I am asking really what percentage of the capital spending for 2012 and 2013 that you proposed in the submission will be carried out, will be done by internal resources versus third party contractors.


MR. WALKER:  Okay.  So we are forecasting that by the end of 2012, about 47 percent will be done by external contractors, and for 2013 it is about 50 percent.


MR. BRETT:  Okay.  And I take it that those percentages are based -- I will look at the evidence.  I take it they're based on essentially the amounts you are projected to pay out to the third party contractors, eh, versus the total cost?


MR. WALKER:  Sorry?


MR. BRETT:  Let me take that back.  That is not a very precise question.


You have given me, I think, enough here.  The 40 percent and the 50 percent are essentially -- I think you have given me the answer.  That's fine.  Thank you.


MR. MILLAR:  Okay.  I think that concludes our questions for panel 1A.  Thank you, panel.


We will take our lunch break now and return at 1:30 with panel 1B.


--- Luncheon recess taken at 12:27 p.m.

--- On resuming at 1:30 p.m.
THESL - PANEL 1B, CAPITAL PLANNING PROCESSES B


Paul Nardozzi

Charlie Floriano

Owen Nash


MR. MILLAR:  Why don't we get started?


I think, Mr. Cass, we have panel 1B.  Would you like to introduce them?


MR. CASS:  Yes.  Thank you, Mike.


Panel 1B, starting with the witness furthest from me, is comprised of Owen Nash, Charlie Floriano, and Paul Nardozzi.


And they're available for questions.


MR. MILLAR:  Thank you.  We did a quick canvass of the room and I don't think there is a whole lot for this panel, but we will start with Staff.


Mr. Mikhail?
Questions by Mr. Mikhail:


MR. MIKHAIL:  If you can turn up to Interrogatory 72, that is Board Staff 72, at tab 6(f), schedule 1-72?


MR. FLORIANO:  Yes, I'm there.


MR. MIKHAIL:  Basically, in response to that interrogatory, a table was provided on page 2.


MR. FLORIANO:  Yes, I have it.


MR. MIKHAIL:  It lists the IT hardware by asset category.  There is, I believe, six of them, starting with servers and ending with the security appliances.


And it gives the expected asset life and percentages of those that will exceed the expected useful life.


And what we would like to get, if that is available, the amounts under each, so the dollar amount under each.


MR. FLORIANO:  For 2012 and 2013?


MR. MIKHAIL:  For -- yes, because now it's updated to these two, yes, because '14 is not in this phase, I guess.


MR. FLORIANO:  We should be able to provide that, yes.


MR. MIKHAIL:  Okay.  Thanks.


MR. MILLAR:  JT2.5.

UNDERTAKING NO. JT2.5:  to PROVIDE DOLLAR AMOUNT FOR IT HARDWARE IN EACH ASSET CATEGORY.

MR. MIKHAIL:  That's it for me.


MR. MILLAR:  Thank you.  That is it for Staff.


Mr. Rubenstein, you had a couple of questions, I believe?

Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  Yes.  Thank you very much.


I have two small undertakings I would like asked, if you could provide.


The first would be with respect to tab -- this would be in the main evidence.  It is tab 4, schedule 3, page 1.  I am not even sure it is -- it is necessary to pull it up.


I was wondering if you could please provide the number of cube vans replaced in the years 2007 to 2011, and the aggregate cost of those replacements for each year.


MR. CASS:  Mark, sorry, why do you want to know about 2007 to 2011?


MR. RUBENSTEIN:  Well, we are trying to compare it to get a sense from -- it is in your evidence in 2012, cube van replacements.  We are trying to sort of map it out over a number of years, get a better context.


MR. CASS:  Well, yes.  Leave that with us to take under advisement, as well, and we will get back to you on that, then.


MR. RUBENSTEIN:  Should we give that an -- I don't know how you want to handle that.


MR. MILLAR:  I don't think we have been given an undertaking.  It is an undertaking to think about it, I think.


Mr. Cass, I trust that, whatever the answer, either you will provide the information, or if you don't, you will give Mr. Rubenstein a reason why not.  And then if he chooses to follow up on it, I guess he will do that.


MR. CASS:  Yes.  It either becomes a refusal, or if it's not a refusal, the information will be provided.


MR. MILLAR:  Okay.


MR. RUBENSTEIN:  And if I could take you to... one second here.


If I can take you to tab 4, schedule C-2, page 1?


MR. FLORIANO:  Yes, I have that.


MR. RUBENSTEIN:  If you see table 1 there --


MR. FLORIANO:  I do.


MR. RUBENSTEIN:  -- it is 2011 carry-over projects, at the bottom line?


MR. FLORIANO:  Yes.


MR. RUBENSTEIN:  Of 11.15?  I was wondering if you could provide the list of what those 2011 carry-over or -- projects are, what makes up that number.


MR. FLORIANO:  Yes, we...


[Witness panel confers]


MR. FLORIANO:  Actually, it's in the evidence.  If you refer to tab 6(f), schedule 2-30, in our response to AMP (sic).


MR. RUBENSTEIN:  Sorry, tab 6?


MR. FLORIANO:  I'm sorry, tab 6(f), schedule 2-30.


MR. RUBENSTEIN:  2-30?


Thank you very much.  Those are my questions.


MR. FLORIANO:  Thank you.


MR. MILLAR:  Thank you, Mr. Rubenstein.


Is there anything else for panel 1B?  Okay.  We are really cracking now.


[Laughter]


MR. MILLAR:  Thank you, panel.


Mr. Cass, would you like to call panel 4?


MR. CASS:  Yes.  I think they're in the room, so they should be able to come forward and take their seats.


MR. MILLAR:  While they're coming up, I understand there may be some time limits associated with one of the members of the panel; is that still the case?


MR. CASS:  That's right.  Barry Parker, who would address questions with respect to PILs, has a time constraint at 3:30.  So perhaps, to the extent that there are questions in that area, they might be put first.


MR. MILLAR:  Yes, that's what I will suggest.  So instead of going necessarily party by party by party, if anyone has questions for this witness about PILs, maybe you can identify yourselves and we will do those first, and then we will revert back to a party-by-party questioning format.


So I know Staff has some questions, so maybe we will... maybe we will start while others consider it.  And if anyone else has questions on PILs specifically, they can let us know.


But we will let Mr. Cass introduce the panel first.
THESL – PANEL 4, RATES AND REVENUE REQUIREMENT


Wendy Cheah

Colin McLorg

Darryl Seal

Todd Williams

Barry Parker


MR. CASS:  So on panel 4, starting furthest from me, again, we have Wendy Cheah.  And next to her is Darryl Seal.  Next is Todd Williams from Navigant, and Colin McLorg and Barry Parker.


MR. SKINNER:  My name is Duncan Skinner.  I have some questions about the disposition of Account 1562, deferred PILs.


The first question is related to the question of discoveries or amounts billed to customers.  It is evidence tab 5, schedule M, "PILs recoveries, 2002 to 2006 summary."


We had a look at tab 2004, and there appear to be formula errors in the tab in columns M through V and rows 35 to 40 that multiply the PILs slivers times the volumetric billing determinants.


And I was wondering if you would undertake to verify the formulas and to correct them, where necessary.


MR. PARKER:  We will take an undertaking on that.


MR. SKINNER:  Thank you.


MR. MILLAR:  JT2.6.

UNDERTAKING NO. JT2.6:  to VERIFY FORMULAS IN TAB 5, SCHEDULE M, "PILS RECOVERIES, 2002 TO 2006 SUMMARY," AND CORRECT IF NECESSARY.

MR. SKINNER:  This is a follow-up question on the same tab.  There are volumetric billing determinants in the tab on row 40, columns C through K.  And they're fairly large billing determinants, but they don't appear to have been used in the calculations of the amounts billed.


I was wondering if you could explain why they're in the table and what use you make of them.  They don't appear to be subtotals.


[Witness panel confers]

MR. SKINNER:  If you like you could just accept it as the undertaking to check that tab, 2004.


MR. SEAL:  It was the same reference from the original question; is that right?


MR. SKINNER:  Yes.


MR. SEAL:  So we will undertake.


MR. SKINNER:  It is in the same tab, just in a different place on the worksheet.


MR. SEAL:  We will undertake to check that.


MR. SKINNER:  Thank you.  Now, in same workbook there is a summary tab, which is the first tab.


In 2003 it shows a collection or billed amount of $60.1 million.  The 2005 amount is $61.4 million, and the 2004 amount is $57.9 million.  I was wondering, when you're looking at the mathematical calculations in tab 2004, if you could also look to explain why 2004 is so much lower than 2003 and 2005.


MR. SEAL:  We will add that to our list.


MR. SKINNER:  Thank you.  In the 2004 audited financial statements, in note 4 there's a discussion of restatement of the audited financial statements in 2002 and 2003 as a result of a meter issue at the Ellesmere station.


And, again, this is probably better for you to take away and think about.  I was wondering if the meter multiplier problem during that period 2002 to 2004 has something to do with the 2004 year looking so much lower than the year before it and the year after it.


MR. SEAL:  That isn't something I could answer right now.  We would have to look into that.


MR. SKINNER:  Thank you.


MR. MILLAR:  I would suggest we give -- this is a separate topic, so we will give it a separate undertaking number, JT2.7.

UNDERTAKING NO. JT2.7:  TO ADVISE WHETHER METER MULTIPLIER PROBLEM at ELLESMERE DURING 2002 TO 2004 IS A RESULT OF 2004 YEAR LOOKING SO MUCH LOWER THAN THE YEAR BEFORE IT AND THE YEAR AFTER.

MR. SKINNER:  Under Staff Interrogatory No. 81, it relates to tab 2006 and the unbilled PILs accrual as of April 30, 2006.


We asked you how you calculated it, and you responded that you did an analysis from 2002 through 2006, and the unbilled calculations that I have seen in the other files we have looked at, the applicant takes the unbilled volumetric information from March and April and multiplies that by the rate slivers that were approved as part of the 2005 application to determine how much PILs had been billed to customers in May and June.


And I don't quite understand your response, and I was wondering if you could explain the relevance of looking at 2002 through 2005 when trying to explain a point in time of April 30, 2006.


MR. SEAL:  So, Duncan, in our calculation for this calculation, what we did was take the PILs component in rates from 2002 to 2006 to determine how much revenue in each year was related to the PILs portion.


That revenue as a portion of our total distribution revenue over that five years, then, we determined as a percentage and applied that to our unbilled balances in 2006 to determine how much was unbilled.


MR. SKINNER:  And did you find -- when you did that analysis, did you find a linear relationship?  I'm thinking in 2002 through March 2004, PILs were recovered on a fixed and variable charge, and then it was recovered variable, only, for 2005 and 2006.


And I think your answer would suggest that there is a linear relationship, and I am not sure that there is.


MR. SEAL:  My recollection of the values of the PILs component in revenue was fairly constant across the years.


MR. SKINNER:  Okay.


MR. SEAL:  And as a proportion of total distribution revenue, I thought as it fairly constant.  I can't say that for sure, because I did not look at that specifically, but that is the methodology that we used.


MR. SKINNER:  Okay.  Would it be possible to confirm that methodology by taking the volumetrics that you actually billed in May and June of 2006 and multiply those volumes, the kWh and kVA, by the rate slivers approved by the Board in the 2005 application?  Would that be hard to do?


MR. SEAL:  I will admit I don't quite understand how that's going to compare with the methodology that we used.


MR. SKINNER:  It would either confirm or suggest that perhaps what you have done might not give as accurate a representation, that's all, because this is pure math.  It is just take the volume, multiply it by a rate sliver and you get the result.


MR. SEAL:  But I'm not sure that the application -- and I will admit the PILs part of the model is not my expertise, but I'm not sure the application of that would be the same for the way that we've calculated it in our PILs calculations.  That's all.


MR. SKINNER:  Okay.


MR. SEAL:  Because I think there may have been a difference in the way that we have calculated that unbilled as opposed to the methodology you're describing other people have done.  So I'm not sure it's applicable and comparable to do it like that.


MR. SKINNER:  Did you do unbilled accruals every month or do you only do it at year end?


MR. SEAL:  We do unbilled accruals every month.


MR. SKINNER:  Okay.  All right, thank you.


The next one is 2002 SIMPIL, and you have an item for inventory obsolescence.  Perhaps I can just describe the issue, and you may or may not want to look at the evidence.


But you have an addition for non-deductible inventory obsolescence of $1,529,000 on tab TAXREC which is like the T2 S1 reconciliation.


I was wondering if you know how long the utility holds on to inventory before management declares it obsolete?  And the reason I am asking the question, Toronto became subject to PILs on October 1, 2001, and typically utilities wait some time before declaring something obsolete or writing it off.  And this add-back occurred in the 2002 tax return.


So it is very close to the period when expenses incurred prior to October 1 would not be deductible and income earned before October 1 would not be taxable.


I am just trying to get a sense for whether this item was added back and it creates a liability to the ratepayers.  If it's been denied by the tax department as out of period because it is for the period prior to October 1, there is an argument to be made that it shouldn't true up to ratepayers.


MR. PARKER:  We did a lot of work in 2001 as part of the Ministry of Finance tax audits around cut-off.


So any issues with regards to inventory obsolescence would have been captured in 2001 rather than 2002.


MR. SKINNER:  It appears on the statement of adjustments as an add-back.  So the tax department has denied it for some reason, and I don't know if it is out of period or if it's just an accounting reserve that they're denying because you haven't in fact written it off.


MR. PARKER:  We can do an undertaking to check the circumstances of 2002.


MR. SKINNER:  Thank you very much.


MR. MILLAR:  JT2.8.

UNDERTAKING NO. JT2.8:  TO ADVISE OF TAX CIRCUMSTANCES IN 2002 WITH RESPECT TO INVENTORY OBSOLESCENCE.

MR. SKINNER:  The next one is with reference to Staff 83.  It is the 2005 SIMPIL model, and it is the scientific research and development credit.


You have an addition of 1.7 million and a deduction of 1.4 million, So there's a net increase that would be charged to ratepayers.


And in answer to Staff's question, you indicate that the ratepayers benefit because the tax liability is lower.  But it would seem, from the numbers on the schedule, that the liability to the ratepayers in this specific addition deduction is in fact an increase in liability, as opposed to a reduction in liability.

     And at the time, on October 1, the fair market value bump-up of the fixed assets for tax purposes belonged to the shareholder.  It only became used in applications with effect from May 1, 2006.

     I was wondering if you could clarify your answer, relative to the way the numbers appeared in the evidence.
MR. PARKER:  The R&D credits, there's two parts to the credits.  The ITC itself is captured in the SIMPIL model as a credit, but in addition to that, you also have to look at the ITC itself, that gets added back to taxable income.

So the net of the two, the credits that gets captured in the SIMPIL model, as well as the add-back to taxable income, that is the net credits that would -- we would get in our tax return filing, that is then reflected in the SIMPIL models.


MR. SKINNER:  I was just confused with the response, that it actually reduced the liability for the ratepayers, when in fact what you're doing in the PILs reconciliations increases the liability.


Thank you.


Those are my questions.  Thank you very much.


MR. MILLAR:  Thank you, Mr. Skinner.


Is there anyone else who has questions on this topic?


Seeing no one, I will suggest we continue.  We can excuse the witness, Mr. Cass, if that assists.


MR. CASS:  Yes.  Perhaps, Mr. Parker can leave, and then it will be more comfortable for the remaining four at the witness table.


MR. MILLAR:  Yes.


[Mr. Parker withdraws from the witness panel]


MR. MILLAR:  Okay.  Panel 4 is open.  Anyone want to go first?


DR. HIGGIN:  Yes, I am ready to go.  Roger Higgin, here.


MR. MILLAR:  Okay.

Questions by Dr. Higgin:


DR. HIGGIN:  Good afternoon, panel.  I am Roger Higgin.  I am here today for Energy Probe Research Foundation.


We provided you with a number of TCQs in writing about -- I think it was last Sunday.  It seems a long time.  And I would like to understand from you exactly how you would like to proceed.  I'm keen to be efficient.  You want me to go through and get oral answers, as well as undertakings, we can do that slow way.  Or if you can tell me upfront that some of them are to be provided in writing, that will make things go quicker.  And I am happy to go either way.


MR. CASS:  Yes.  I would leave it to the panel.  Are there ones that the panel can pick out now that they would consider would be best answered in writing?  Or do you know?


MR. McLORG:  Mr. Higgin and Mr. Cass, I think that generally our approach has been to defer to writing those TCQs that require production of material, spreadsheets and tables and that kind of thing, that would be incredibly cumbersome to go through verbally.


So if it would give you any additional reassurance, we could certainly accept the approach of your referring to each TCQ, and then we will just say whether we can answer any of that verbally, helpfully right now, or whether we're just referring the whole request to a written response on Tuesday.


DR. HIGGIN:  That would be helpful.  I just don't want to grind through it, question part by part.  If that would work, we will try it that way and see where it goes.  Thank you very much, Mr. McLorg.


So I would like to start with TCQ No. 1, and that's Energy Probe TCQ 1.  It has a number of references here, the main evidence, updated tab 2, addendum, pages 13 and 14 and tables 1 and 2, and also the updated evidence, tab 4, schedule A, appendix 1, page 1, "Summary of the capital program."


So these are schedules that you have provided in your updated evidence showing the capital program, and the final reference here is one which has been looked at several times today, which is VECC's IRR, tab 6(e), schedule 11-16, parts (a) and (b), which is a schedule that shows CAPEX and forecast in-service additions.


So those are the references.


So starting with the first question, what I would like to confirm, I guess, is the current forecast of the 2012 year-to-date and forecast, and 2013 forecast CAPEX by major category.


One of the things that -- in posing this question, was that I was a bit unsure, when I look at the first reference -- maybe we can turn that up.  And that is the tab 2, addendum, page 14, and that's table 2 in that reference.


If you have that, just starting originally with 2012, I was trying to look at the numbers under "2012 update cost" and "2012 original variance," and those numbers didn't leap out at me as being elsewhere in the evidence.


For example, as we said, VECC 16, or other points.  I couldn't understand those numbers.


So starting with that, that's why I was asking you to confirm what is the exact current forecast of 2012 CAPEX.


MS. CHEAH:  On table 2 that you're referencing, the 125 million in column 2 of the numerics is speaking specifically to schedule numbers 1 -- B1 through to B21.  So it is a subset of the total ask of on the update, which references 274.68 million.


DR. HIGGIN:  Yes.


MS. CHEAH:  So it is only referring to schedules 1B through to -- sorry, B1 through to B21.


DR. HIGGIN:  So it would be compatible with VECC 16, the 274 number?


MS. CHEAH:  Correct.


DR. HIGGIN:  Okay.  So then just dealing with CAPEX only for now, is that the same for 2013?


MS. CHEAH:  That would be correct.  It would be also in reference to the ICM segments themselves.


DR. HIGGIN:  Okay.  Thank you.  So that would at least confirm those numbers.


And what I was asking is, then, in the next part, to deal -- it should have been part (b), but anyway, with reference to the forecast of in-service additions.  And always through this, I keep coming back to VECC 16 as being part of the aggregate number, and wanting to make sure that things fit together with VECC 16.


So could you tell me what those ISAs are, by quarter, for 2012 and 2013, please?


MS. CHEAH:  Unfortunately, we're unable to provide it by quarter.  We could provide it by the fiscal year or the annual year.


DR. HIGGIN:  I thought -- let's just try to understand -- that you kept records of the in-service forecasts by job, by segment, that that was available data if you look at the business cases, if you look at the projects.


I can't quite understand, because other utilities -- to cite one, Hydro One -- do keep data in that form.


[Witness panel confers]


MS. CHEAH:  We would have the historical in-service for 2012, as we're already into November.  So for the first three quarters we would have it, but to prepare it for I believe the Tuesday requirement would -- we wouldn't be able to provide it in time for that, by segment.


DR. HIGGIN:  Okay.  Can you provide, as you already have, any less granularity than by segment?  In other words -- or more granularity, sorry, than just the aggregate numbers in VECC 16?  I'm looking for what happens with VECC 16.  I keep coming back to VECC 16.  I am trying to understand those numbers, whether -- how much of that capital is coming into service is in which quarter of the years.  It's that simple understanding.


MS. CHEAH:  Okay.


DR. HIGGIN:  So what level of granularity could you provide more than just is shown on VECC 16?


MS. CHEAH:  I believe we could provide it for 2012 in totality of the spend for 2012, by quarter, how much has been put in service.


DR. HIGGIN:  Okay.  What about 2013?


MS. CHEAH:  2013 currently is a projection, like, a projected forecast.


DR. HIGGIN:  Yes, of course.


MS. CHEAH:  So you have to understand that the jobs themselves have not been scheduled.


So to be able to comment by segment how much of it was in service by segment is -- again, it's not feasible at this time.


DR. HIGGIN:  What I can't understand, then, is how you provided the answer to VECC 16, which says you have a forecasted 2013 in-service capital of 283.76 and a non-in-service of 295.35 if you didn't know that information.  I can't...


MS. CHEAH:  We can provide -- I can provide the high-level assumptions that we used in order to calculate the 49 percent presented in VECC 16.


So what we utilized was the historical activities in the previous years from predominantly 2011 with the understanding that like work creates like assets, and with a similar work force we would be able to complete projects within a given period of time.


So what we did use is the historical 2011 activities to demonstrate the in-service assumptions for 2013.  The exception to that would be Bremner and --


DR. HIGGIN:  Yes, of course, that is a special case.  Okay.


MR. MILLAR:  I think that was an undertaking, Mr. Higgin?


DR. HIGGIN:  Yes, I think so.  I would like to understand, then, how the calculations that are shown in VECC 16 for forecasted capital in-service for both years 2012, 2013 and forecasted capital not in service for those two years -- if you could provide that?


MR. MILLAR:  JT2.9.

UNDERTAKING NO. JT2.9:  TO EXPLAIN CALCULATIONS SHOWN IN VECC 16 FOR FORECASTED CAPITAL IN-SERVICE FOR BOTH YEARS 2012 AND 2013 AND FORECASTED CAPITAL NOT IN SERVICE FOR TWO YEARS.

DR. HIGGIN:  Thank you.  Now, just extending this, as you know, we had some questions about -- and we will accept that the concept of rate base can -- as you say, is a cost of service concept, but some of us like to consider proxy rate base because it speaks to the question of return on rate base, revenue requirements and so on.


So the question in the next portion is to say:  Could you provide the calculations using those data and those assumptions showing a rate base for 2012, 2013, and then, as we said, a carry-over opening balance for 2014?


So this is a notional rate base calculation.  You did some, as we asked you to, earlier on in some of our IRs.


So could you provide a notional rate base calculation for those years?


MS. CHEAH:  We can complete reference here (b) and (c) as an undertaking.


DR. HIGGIN:  Right.  Thank you.


MR. MILLAR:  JT2.10.

UNDERTAKING NO. JT2.10:  to PROVIDE A NOTIONAL RATE BASE CALCULATIONS FOR 2012, 2013, AND CARRY-OVER OPENING BALANCE FOR 2014 AS SHOWN IN VECC 16(A) AND (B).

DR. HIGGIN:  In doing so, just as we keep saying, unless you want to tell us that we shouldn't rely at all on VECC 16 -- we keep coming back to that as being something that's important to us for a variety of reasons, which we will talk about.


Thank you very much for that undertaking.


So I would like now to turn to our next other TCQ.  This is Energy Probe TCQ No. 11 -- sorry, No. 12.  I'm sorry, No. 12.  And this has a number of references.  I don't know if I need to go through them, but let's just start without going through all of the references.  The premise of this --


MR. SEAL:  Roger -- sorry, Roger I thought maybe I would hedge you off a little bit to save some time, because I think we are willing to take questions 12, 13 and 14, as you have asked them, as an undertaking.  We will provide you with a written response to those questions.


DR. HIGGIN:  Right.  That would be appreciated.  Just for the record, I would like to just make an indication what we're trying to do here.


Right now in evidence, there's two proposed methodologies to generate estimated revenue requirements for the 2012, 2013 years, and we're thinking there could be another alternative - and that is based on in-service additions - that might be an interesting one, shall we just say.  That's why I've asked these questions.


And our focus in asking these questions and the relevance of it is that it affects what kind of approach to true-up in the future.  That's a very critical matter for ratepayers.  So thank you, again, for that undertaking.  Could you please -- it would cover those three TCQs.


MR. DAVIES:  I am just thinking maybe there should be a separate undertaking for each of the TCQs?


DR. HIGGIN:  I'm fine with that, if you would like to speak them out, Martin.


MR. DAVIES:  JT2.11 for TCQ 12, JT2.12 for TCQ 13, and JT2.13 for TCQ 14.

UNDERTAKING NO. JT2.11:  TO PROVIDE RESPONSE TO ENERGY PROBE TCQ 12.
UNDERTAKING NO. JT2.12:  TO PROVIDE RESPONSE TO ENERGY PROBE TCQ 13.
UNDERTAKING NO. JT2.13:  TO PROVIDE RESPONSE TO ENERGY PROBE TCQ 14.

DR. HIGGIN:  Okay.  So that has made life very easy for me.  I can go home now.  Thank you very much indeed, gentlemen.


MR. SEAL:  Sorry, Roger, just a clarification on TCQ

-- your TCQ 13.


DR. HIGGIN:  Yes.


MR. SEAL:  Which I believe was undertaking 12.


DR. HIGGIN:  Yes.


MR. SEAL:  Part (d) --


DR. HIGGIN:  Yes.


MR. SEAL:  -- you reference:

"Please provide a version using CAPEX and ISAs provided in response to Energy Probe TCQ #11."


DR. HIGGIN:  That is a misspeak.


MR. SEAL:  It should be 12?


DR. HIGGIN:  It should be 12.  Yes.  Thank you.


MR. DAVIES:  Thank you, Roger.


Julie, do you want to go next?  Okay.

Questions by Ms. Girvan:


MS. GIRVAN:  Thanks.  I just have a few questions.


Could you turn up CCC No. 2 under issue 1.2?  And are you there?


MR. McLORG:  We have that, Julie.


MS. GIRVAN:  The response asked for the materials provided to THESL's board of directors and senior management when seeking approval of the 2012 to 2014 application.


And you've declined to provide the materials on the basis of a claim for solicitor-client privilege.


I guess I would just like to ask if you would reconsider this request and provide the materials under the Board's confidentiality guidelines.


MR. CASS:  Julie, Toronto Hydro has considered it, but continues to stand on privilege and is not waiving its privilege.


MS. GIRVAN:  Could you explain, then, just in terms of the presentation made by Ms. Klein, why that solicitor-client privilege applies to that presentation?


MR. CASS:  I'm told, Julie, that the presentation contains legal advice.


MS. GIRVAN:  Is it all legal advice?


MR. CASS:  Yes, Julie.  I'm told it is a presentation that, in its nature, is providing legal advice.


MS. GIRVAN:  Okay.  Well, anyway, I just ask you to sort of rethink that, and I think it might be helpful in sort of moving this process forward.


Now, if you could just turn to CCC No. 3, under issue 1.2?


MR. McLORG:  Yes, we have that, Julie.


MS. GIRVAN:  Okay.  And the response states that:

"It's in THESL's view that substantial investment in the distribution system is essential and that this investment cannot be funded through a simple IRM framework without the ICM."


I am just wondering, how has THESL, then, made -- funded the investments made in 2012?


MR. McLORG:  Apart from funding through the depreciation component of existing rates, the investments made by THESL have not been funded.  THESL has financed the investments through conventional means, but the investments have not been funded.


And if you are interested in the distinction, I would refer you to the manager's summary, page 8.


MS. GIRVAN:  Okay.  I don't have that in front of me, but that's okay.  I've certainly read it.


MR. McLORG:  It may not take a long time to go over the main points on the record.


In THESL's view and in THESL's terminology, funding for investments is compensation received through rates for the capital costs related to making those investments.


And those capital-related costs are the interest costs, return on equity, taxes paid or PILs paid on those earnings and depreciation.


That's an entirely different set of costs than the cost that is immediately incurred by THESL when it makes an investment.  And the difference is generally on an order-of-magnitude basis; that is, an investment that needs to be financed by THESL of $100 would, in any given year, attract a revenue requirement, a capital-related cost, of approximately $10, or thereabouts.


So when we use the term "funding" we are referring to the compensation for those capital-related costs, whereas the financing is the provision of initial funds by which THESL literally pays the bill, and pays its suppliers and workforce and so on.


MS. GIRVAN:  Okay.  I understand the distinction.  That's fine.  Thank you.


Now, if you turn to CCC No. 9, please?


So in this question, we were asking for capital expenditures for the years 2006 to 2012, as-filed, Board-approved and actual.  And you have only filed the actuals.


So I was just asking you if you could -- I would like to ask you if you could please complete the request by providing as-filed and Board-approved.


[Witness panel confers]


MR. McLORG:  Julie, we believe that we've presented as much information as we possibly can in response to this interrogatory.


I think that most people acknowledge that in the final decision rendered by a board in any case, it has been typical in the past that the Board has not, on a line-by-line basis, approved capital expenditures, possibly with some notable specific exceptions.  But otherwise, the experience of THESL has been that there is a capital envelope that is approved, and it's really meaningless for us to try and attribute what the Board has approved to particular projects.


So I think that we have provided the actuals.  There's no corresponding concept of Board-approved.


MS. GIRVAN:  Okay.  Could you then file the as-filed amounts?  That's in the initial question.


[Witness panel confers]


MR. McLORG:  We can undertake to produce the numbers as filed.


MS. GIRVAN:  Okay.  That would be very helpful.


MR. McLORG:  And the only exception I might note, just going from memory, is that we wouldn't have filed an explicit request for 2007.


MS. GIRVAN:  Okay.  Well, if you can provide me what you can, that would be very helpful.


MR. MILLAR:  JT2.14.
UNDERTAKING NO. JT2.14:  to PROVIDE AS-FILED CAPITAL EXPENDITURES FOR 2006 TO 2012.

MS. GIRVAN:  And this was just a general question, and probably for you, Colin, but I guess I would just like to get a sense, given the recently released report from the Board on the renewed regulatory framework.  I was wondering if that at all impacts your application.


MR. McLORG:  Based on the information that is currently available to THESL, the prospects of RRFE have not changed our intentions concerning this ICM application, phase 1 or phase 2.


MS. GIRVAN:  So 2014, it hasn't affected?


MR. McLORG:  We intend to pursue the application as -- well, in its current condition and as it will be updated for 2014.


MS. GIRVAN:  Okay.  Thanks.


All right.  Thanks.  The rest of my questions have been answered.  Thank you very much.

Questions by Mr. Harper:


MR. HARPER:  Okay.  I think I have been handed the baton, if I can put it that way.


The first conference question, I would like you to turn up tab 6A, and it's schedule 1-9, which is your response to Staff Interrogatory No. 9.


MR. SEAL:  Yes, we have that Bill.


MR. HARPER:  In this interrogatory, I guess Staff was asking you about the 2010 data you had used for purposes of calculating, I guess -- I guess it is for purposes of calculating the growth metric, and they were trying to compare that with what had been submitted under the Triple-R filing.


It was your response to part (c) I was looking at, where I guess you were indicating what you had used here were updated 2010 values, as compared to those that were filed to meet the deadline of the Triple-R filing requirements.


I guess when I saw that, I was just trying to get some sense of -- you know, there could be updates and revisions that are minor modifications, and there can be ones that are fairly major, if I can put it that way.  I was trying to get a sense of whether the updated values that you have used, whether there's any significant variances between what you used here and what you filed for purposes of the Triple-R, or whether -- you know, like I said, minor variances aren't going to have a lot of impact on the results.


So maybe if you could comment on that and let me know, that would be great.


MR. SEAL:  Certainly.  On totality, on a total basis, there is very little difference.  It is minor.  It is probably less than 0.1 percent.


MR. HARPER:  Okay.


MR. SEAL:  Within the classes there are some differences that are related to, as I said, billing corrections and updated billing information that we have about rate classes.  So there are some classes that have impacts that are bigger than 1 percent.


MR. HARPER:  Maybe you can just remind me, because I don't think the triple-R data is used anywhere in the ICM except for this purpose.  Like, all of the rate riders and stuff, if I recall, are calculated based on your approved 2012 -- your last approved loads as opposed to triple-R filing numbers.  Am I correct in that?


MR. SEAL:  That's correct, 2011 Board-approved.


MR. HARPER:  Right.  So the fact that individual class numbers vary, that isn't going to show up as a larger impact anywhere else, because those numbers aren't used anywhere in the filing, to my recollection, for the purposes of calculating any individual class riders or anything like that.


If I am wrong, maybe you could let me know.


MR. SEAL:  The only place in the Board's ICM work sheets that they are used is in the calculation of the growth variable for the threshold.


MR. HARPER:  Fine, thank you.  That was my recollection, as well, and I just wanted to confirm that.


Actually, I think my next two technical conference questions that have been directed to this panel I think have been talked about in full already, and we can pass on those unless there's something that you feel you want to add on them.


I would like to turn to VECC Technical Conference Question No. 4, and specifically looking at tab 6H.


If we look at schedule 11-14, which is your response to the VECC Interrogatory 114, I guess I was just curious.  Here you were showing the calculation of the actual ROE for 2011.  My understanding is this was based on your actual financial statements for 2011?


MS. CHEAH:  That's correct.


MR. HARPER:  And so as a result, you know, it would be based on actual -- you know, the actual equity that you've got.


So I guess what we were wondering is the Board has established, through its triple-R filings, a procedure for people to file and calculate ROE on a deemed equity and debt basis, so they're getting a comparable filing from everybody when they're looking at this.


I was wondering whether it would be possible for you to provide a schedule that sets out the determination of Toronto Hydro's actual 2011 ROE on a deemed basis using the prescribed approach in appendix 5 of the Board's April 2012 triple-R filing requirements?


MS. CHEAH:  I believe we can provide that.


MR. HARPER:  Fine.


MR. MILLAR:  JT2.15.

UNDERTAKING NO. JT2.15:  TO PROVIDE A SCHEDULE SETTING OUT DETERMINATION OF TORONTO HYDRO'S ACTUAL 2011 ROE ON A DEEMED BASIS USING PRESCRIBED APPROACH IN APPENDIX 5 OF THE BOARD'S APRIL 2012 triple-R FILING REQUIREMENTS. 



MR. HARPER:  Then the next one would be VECC Technical Conference Question No. 5.  That's at schedule 6L, and it's -- excuse me, tab 6L, schedule 6-29, which was a CCC interrogatory.


And there I think CCC had asked you for approved and actual ROEs over a history of time.  Here for 2011 we see the same 9.94 percent as what you had provided in the VECC IR.


You also quote a projected value here for 2013, and I guess I just wanted to confirm whether that projected value was basically on sort of the deemed notional debt and equity basis, or whether that was a projected value based on your -- sort of, you know, the same format as how you quoted the actual values, which would be based on financial statements?


[Witness panel confers]


MS. CHEAH:  Sorry, could I clarify?  Is that 2012 or 2013?


MR. HARPER:  For 2012.  You have a projected value there of 8.77 percent.


MS. CHEAH:  For 2012, yes, it has been revised for the updated 2012 capital spend.


MR. HARPER:  Is that calculated using sort of -- like, we've talked about it -- for the previous question, we talked about the fact there was a difference between calculating ROE based on actual financial statements and calculating it based on the deemed debt equity structure.


And I was just wanting to confirm which of the two approaches was taken in calculating the 8.77 percent.  Was that based on a CGAAP financial statement type approach or based more on a regulatory construct deemed equity debt type approach?


MS. CHEAH:  It would have been consistent with our presentation of the actual ROE, so consistent with our financial statements.


MR. HARPER:  The statements?


And would it be possible for you to do that, as well, on the same deemed basis as you just agreed to do the 2012 -- excuse me, the 2011 actual value?  And, if not, I will be looking at the difference between the two just to try and judge what mental adjustments I may have to make myself in order to make them comparable.


[Witness panel confers]


MR. SEAL:  Bill, we were just looking at the input to that particular calculation, and I'm not sure we can do it on the same basis.


My first thought is, in terms of the rate base calculations, given that we're still talking about the ICM and what that means and how that looks, I don't think we could put a real number in there for 2012.


MR. HARPER:  I wasn't asking you to put a real number in there.


MR. SEAL:  Or even a forecast number with a base -- a sound basis.


MR. HARPER:  Well, we've got a forecast number here now which I assume has some reasonably sound basis underlying it.


MR. SEAL:  The difference being a cost of service type rate base basis versus an IRM/ICM-type basis that we're in for 2012.


MR. HARPER:  I'm sorry to sort of prolong this, but, you know, I mean, I'm trying to understand what the difference is between the two.


You know, you've got -- I assume under ICM you've got an agreed-upon -- you know, if we assume you get your application as filed, we would have -- you know, there would be agreed-upon set of capital expenditures that would turn -- a portion of which would go into rate base based upon your 41, 42 percent factor.  There would be known revenues based on the ICM riders.  I am trying to understand what the difference in terms of this calculation would be.


MR. SEAL:  It's those sorts of assumptions that we would have to put into here that I am not sure would be informative.  That's exactly what it is.


If there is something to use that you would like us to use in those assumptions, perhaps we can work with it.


MR. HARPER:  Well, maybe the easiest way to do is if you could give me a bit of background on how you actually calculated the 8.77 percent in terms of the work sheet that went into that.  I could then see at least what numbers you had.


If we have to do something with that, we will do something with that over the course of the next week.


[Witness panel confers]


MR. HARPER:  Maybe just basically what assumptions did you use in terms of coming up with the 8.77 percent in terms of revenues, net income, equity debt, rate base, et cetera.


[Witness panel confers]


MR. SEAL:  I think in the interests of trying to help you out, Bill, we will do our best to calculate that rate on that basis and we will make sure we make it very clear what assumptions we're using for the various inputs.


MR. HARPER:  Okay, fine.


MR. MILLAR:  JT2.16.

UNDERTAKING NO. JT.16:  to advise assumptions used to come up with the 8.77 percent in terms of revenues, net income, equity debt, rate base, et cetera.

MR. HARPER:  Since that was a forecast for 2012, is there any way that you can on that similar basis do a similar projection for 2013?


MR. SEAL:  Yes, we can.


MR. HARPER:  Do you want to make that just part of the same undertaking, if that is acceptable to you?


MR. SEAL:  You've separated it out as (a) and (a) and we will make it as part of that same --


MR. HARPER:  Okay.  I would like to then turn to VECC Technical Conference Question No. 6, which is looking at tab 6(c), schedule 11-9.


I apologize.  My "6" on the thing there should have been an "(a)", I think, but -- on the typed material that I sent you.


And I guess I was just curious here to come back to what seems to be a favourite topic, and that is capital spending and in-service additions.


And I was just curious, you've given us here what we'd asked for -- which was great -- which was the actual capital spending for 2011 that was energized and in-service as of the end of 2011.


I was wondering if you could just advise us -- I was looking to see how that compared with what was the approved capital for in-service for 2011, based on your last rate decision from the Board.


And similarly, what would have been the approved 2011 depreciation, which at that point in time, I assume, would have been based on the half-year rule associated with those in-service additions.


[Witness panel confers]


MR. SEAL:  Yes, we can provide that, Bill.


MR. HARPER:  Okay.  Thank you very much.


MR. MILLAR:  Do you want to mark that?


MR. HARPER:  Sure.  Yes, please.  Thank you.


MR. MILLAR:  JT2.17.
UNDERTAKING NO. JT2.17:  to ADVISE HOW ACTUAL CAPITAL SPENDING FOR 2011 COMPARED WITH APPROVED CAPITAL FOR IN-SERVICE FOR 2011, BASED ON LAST OEB RATE DECISION, AND WHAT WOULD HAVE BEEN APPROVED 2011 DEPRECIATION.

MR. HARPER:  I think my next question was actually just dealing with the same question Ms. Girvan asked you about sort of what was your -- it was unclear to me from the addendum and the updates at tab 2 what your intention was for 2014.


It sounded like you were -- given the renewed regulatory framework, you were trying to leave the window open a little bit in terms of where you went.


But as I understand your response right now, your full intention right now is to continue the second phase of this and apply for the balance of your -- continue to apply for phase 2, which would be in ICM in 2014.


MR. McLORG:  That's correct, as things currently stand.


MR. HARPER:  Fine.  I think, then, that addresses that.


My last question has to do with VECC Technical Conference Question No. -- I think this is a pretty quick one -- No. 36.


When I was going through your updated material, I noticed in one place that it seemed you were still asking for the Board to declare your rates interim as of the end of May 2012, and another way you were acknowledging the interim order had already been given.


I assume the first reference was just a place where you hadn't managed to fully update the evidence.  And just confirm you do have an interim rate order right now, as of June 1st, 2012.


MR. McLORG:  That's correct.  I apologize for any oversight on our part.


MR. HARPER:  No, that's fine.  I was reading it through and got a little bit mixed up in my mind.


Those are all of my questions.  Thank you very much.


MR. MILLAR:  Thank you, Mr. Harper.


Any volunteers?  Shelley, and then Mark.  Or Mark, then Shelley.  I’m easy.


I would just note we probably want to take a break around quarter to 3:00.  I don't know if you will take us there or not, Mark, but if you are still going, look for an appropriate time to break around then.


MR. RUBENSTEIN:  Sure.  Thank you very much.


My first question is with respect to -- you don't need to turn it up, but in the updated manager's summary in the addendum, on page 13 you provided a chart which shows, you know, the year-to-date 2012 capital expenditures up until the end of August.


It is unclear to me, and maybe I missed it in one of Mr. Higgin's undertakings if you have agreed to update that to a more recent year-to-date.


[Witness panel confers]


MR. McLORG:  We're not able to do that, Mr. Rubenstein.  The information isn't available.


MR. RUBENSTEIN:  Okay.  Thank you very much.


My second question, if I could take you to -- if I can take you to tab 6(b), schedule 6-2.  This was the tab that Ms. Girvan took you to.  First question I --


MR. McLORG:  Sorry, Mr. Rubenstein, we are just having a little trouble turning that up.  Can you give us an Interrogatory No. or an issue number?


MR. RUBENSTEIN:  Sure.  That is Consumers Council Interrogatory No. 2, issue 1.2.


MR. McLORG:  We seem to recognize this, yes.


MR. RUBENSTEIN:  So from this, I take that the board of directors never actually approved of this application, in the sense that they were never -- at least from what I can see from the dates, it doesn't seem that they ever sort of provided -- I am trying to -- clearly, I don't necessarily mean the application that you filed before the Board, but something greater than sort of the idea that you will file an ICM?


MR. McLORG:  I don't think anyone on this panel can comment on that from personal knowledge, Mr. Rubenstein.


MR. RUBENSTEIN:  Can you undertake to find that out?


MR. CASS:  What is the nature of the undertaking, Mark?


MR. RUBENSTEIN:  I am trying to understand -- I would like to know if the -- with what respect do the board of directors approved this ICM application?


MR. CASS:  Sorry, with what respect?  I think you can assume the application is before the Board.  It's been properly approved.  I am trying to understand what the question is.


MR. RUBENSTEIN:  Well, first, did the board of directors approve the ICM application?  Because in this question we asked you to:

"Please provide all materials provided to THESL's board of directors and senior management when seeking approval of the 2012-2014 application before us."


The only thing that -- you haven't provided it, but we have is number 1, which is a memorandum from BLG regarding the IRM/ICM process, dated January 27, 2012.


There are other documents with respect to the senior management, but not the board of directors.


MR. CASS:  Yes.


MR. RUBENSTEIN:  So I am inferring from that that the board of directors never approved the IRM/ICM application.


MR. CASS:  As I said, Mark, the application is before the Board, has clearly been through Toronto Hydro's approval process to get to the Board.  What does it matter who, in particular, approved it?  Or anything -- any further details?


I'm not following how this is going to help the Board.


MR. RUBENSTEIN:  Well, I would disagree with that, and from your answer I would say the answer is no.  I'm not saying that nobody approved the application -- don't get me wrong -- but that -- the board of directors, specifically.


I understand your position might be it doesn't matter, and that's fine.


MR. CASS:  Yes.  That is my position unless you can tell me how it does matter.  I don't see how it matters.  It's been properly approved.  It is before the Board.  I don't know how any of this matters, so...


MR. RUBENSTEIN:  The second question I have with this, with respect, and -- Mr. Cass will probably answer it, but I will put it towards the panel.


Is it -- this is flowing from Ms. Girvan's question.  Is it THESL's position that documents made in preparation of a regulatory application made by THESL, a regulated utility to its regulator, initiated by itself is covered by litigation privilege?


MR. CASS:  I haven't formulated any position on litigation privilege, Mark.  There was some discussion of a document that's the subject of solicitor-client privilege.  And certainly it's -- from what I know of the document, it is a document that's protected by solicitor-client privilege.  I don't think one even needs to get into litigation privilege.


MR. RUBENSTEIN:  Well, I ask because you do -- the privileges you're claiming over documents 2 and 3 include not just communications between solicitor and client, but also materials produced in contemplation of litigation.  That's why I'm asking.


MR. CASS:  I don't have 2 and 3 in front of me that you are speaking of.  I don't even know what your reference is.


I thought you were referring back to Julie's questions about a document that was premised on legal advice and was subject to solicitor-client privilege.  That is what I was referring to.


I don't even know what your 2 and 3 is referring to.


MR. RUBENSTEIN:  So I can read it.  So:

"The following documents were provided to THESL's senior management.  2, memorandum from Amanda Klein, THESL's in-house counsel, regarding the ICM eligibility criteria, dated February 11th, 2012, and 3, PowerPoint presentation from Amanda Klein, THESL in-house counsel, and BLG to THESL executive regarding 2012/2014 IRM ICM application dated April 11, 2012."


THESL declined to produce these documents on the basis that the materials in the information sought are privileged as communications between solicitor and client and/or materials produced in contemplation of litigation.

MR. CASS:  Yes.  Well, certainly just from the descriptions you read from the record there, Mark, they certainly do sound to me like solicitor-client communications subject to solicitor-client privilege.  I don't think I need to get into an argument about litigation privilege.


MR. RUBENSTEIN:  Okay, thank you very much.  I would like to follow up on a question that Mr. Higgin had asked the last panel and it was punted to this panel, and that was with respect to who at Toronto Hydro was ultimately responsible for when a decision -- if the Board declines the IRM/ICM application and THESL has to determine which of the projects it applied for that it is still going to have to do, who will be the one making the decision of which of the projects?


MR. McLORG:  Mr. Rubenstein, I think that part of the premise of your question is that were the Board to deny THESL's ICM application for 2012 and/or 2013, that THESL would be in a position to do a significant quantity of planned work.  And we have an interrogatory response, and I can look up which one for you, that states - I think this is Board Staff 10, but that is just going from memory - that were THESL to be operating within an envelope of about $140 million in capital spend, we would be basically on what could be called a starvation diet.


We would be needing to focus the resources that we had basically on a reactive basis to fixing things that go wrong with the system and where the power is out.


So the essence of what I'm saying is that it is unclear that we would have a material amount of planned work in those circumstances.  I think our response - and I can give you that reference - is that we would be forced back into a reactive mode.


Now, when it comes to any planned work that we were able to execute, probably in contemplation of heading off an imminent threat to safety or reliability, then I think that it would normally be the case that there would be meetings at THESL to -- among managers and more senior staff to identify the type of work that we could carry out on a planned basis, and that would, I think, receive approval at the vice-presidential level.


MR. RUBENSTEIN:  So now I am going to get the pronunciation wrong, and I apologize if they're listening in.  Mr. Labricciosa --


MR. McLORG:  Mr. Labricciosa.


MR. RUBENSTEIN:  I apologize.  Would he be the person who would be ultimately be, as VP asset management or -- VP distribution services be the person?


MR. CASS:  Mark, does it really matter who the particular person is?  Again, I am just not understanding the connection between this and anything the Board needs to decide.


MR. RUBENSTEIN:  Well, I think it is important to know who is essentially going to have to make a decision about the prioritization of projects.  Your earlier panel couldn't provide information about prioritizing the projects.


Someone clearly will have to make that decision.  It may be important that they are before the Board to answer some of these questions.


MR. CASS:  Well, I think you have the witnesses Toronto Hydro has brought forward, Mark, and I really don't think it is a relevant question to be asking them who, what particular person, is going to make the decision that you are referring to in the hypothetical circumstances you have described.


MR. RUBENSTEIN:  Okay, thank you very much.  Do you want to take our break now?


MR. MILLAR:  Why don't -- let just take a time check before we do that.


Ms. Grice, how long will you be?  Mr. Brett, how long will you be?


MR. BRETT:  I just have one question.


MR. MILLAR:  Mr. Blue?


MR. BLUE:  About 15 minutes.


MR. MILLAR:  Okay.  Staff still has a bit, as well.  Ms. Grice, if you can finish in five minutes, maybe we can do you.


MR. RUBENSTEIN:  Sorry, I am not done.  I just thought -- you had said quarter to.


MR. MILLAR:  My mistake.  I got ahead of myself.


MR. RUBENSTEIN:  But I promise the questions are much less controversial.


MR. MILLAR:  How much longer will you be?


MR. RUBENSTEIN:  Ten, 15 minutes.


MR. MILLAR:  Why don't we take our break, then, and return at 3 o'clock?


--- Recess taken at 2:45 p.m.

--- On resuming at 3:02 p.m.

MR. MILLAR:  Okay.  Why don't we get started again?


Mr. Rubenstein has actually had to step out for a moment, so rather than wait on him, Ms. Grice has agreed to ask her questions, and then we will return to Mr. Rubenstein, if he is back.

Questions by Ms. Grice:


MS. GRICE:  Hi.  It's Shelley Grice representing AMPCO.


I only have three questions left, and the first question is in reference to AMPCO Interrogatory No. 6, so the reference is tab 6(f), schedule 2-6.


In this interrogatory, we asked for Toronto Hydro to provide the labour components of the capital programs listed in appendix 1.


And I asked this question in an earlier panel and I was referred to you.  We just had a quick question.


When we calculate the percentage of labour costs for 2012 and 2013, for 2012 it looks like it's about 17.4 percent, for 2013, about 16 percent.  And we just wanted to -- our understanding is that perhaps this is a typical percentage of labour costs in your projects, and we just wanted to get confirmation of that.


MS. CHEAH:  We did take a look at the response to the IR that you've just referenced.  When we do strip out actually the HONI, Hydro One contributions and the Bremner transformer station, we do get higher levels of capitalized labour, because both of those are -- one doesn't require labour, and the other one is a turnkey project which we have with -- contracted out.


But looking at it even further, we believe there might be a slight understatement of those numbers, and we would like to re-present some revised numbers as an undertaking, if that is possible.


Our typical numbers are in the ballpark of around 30 percent, so you are correct that it was a bit low.


MS. GRICE:  Okay.  Thank you.


MR. MILLAR:  JT2.18.

UNDERTAKING NO. JT2.18:  to PROVIDE REVISED PERCENTAGE OF LABOUR COSTS FOR 2012 AND 2013.

MS. GRICE:  My next question has to do with AMPCO Interrogatory -- you know what?  It is still Interrogatory 6, but it is part (h).


And in this question, we asked what the spending was in 2012, 2013 and '14 that does not include replacement.  And the response provided is that:

"Of the capital spending over 2012 to 2014, 366.74 million does not pertain to work including replacement."


We just wanted to get that number broken down for 2012 and 2013, if that is possible.


MR. McLORG:  Sorry, Ms. Grice, just for clarification, you're referring to the total three-year amount of 366, and you would like to see a yearly version of that?


MS. GRICE:  Yes.


MR. McLORG:  For '12 and '13?


MS. GRICE:  If we could, yes.


[Witness panel confers]


MR. SEAL:  We will undertake to do that breakdown, Ms. Grice.


MS. GRICE:  Great.  Thank you.


MR. MILLAR:  JT2.19.

UNDERTAKING NO. JT2.19:  to PROVIDE BREAKDOWN FOR 2012 AND 2013 OF THE 366.74 MILLION TOTAL FROM RESPONSE TO AMPCO INTERROGATORY NO. 6.

MS. GRICE:  Okay.  My last question has to do with AMPCO Interrogatory No. 36, and this is schedule 2 -- wait, sorry.  Tab 6(l), schedule 2-36, and it has to do with the fixed and variable class-specific rate adders that Toronto Hydro is proposing.


And just in some other applications that we've been involved with -- two in particular, Guelph Hydro and Oakville Hydro -- the rate riders have been variable rate riders, and I just wanted to get a feel from Toronto Hydro if that would be appropriate for Toronto Hydro to just have a variable rate rider.


MR. SEAL:  Shelley, as we indicated in our response, it's our view that the capital associated with the ICM programs really is -- shouldn't be treated differently than any other capital that would be treated in a cost of service hearing, in terms of the way that the rate structure comes out of it.


So in our view, there's no reason not to have a fixed and a variable portion.


MS. GRICE:  Okay.  Okay.  That's great.  Thank you.  Those are my questions.


MR. MILLAR:  Thank you, Ms. Grice.


Mr. Rubenstein, we will go back to you.
Questions by Mr. Rubenstein:


MR. RUBENSTEIN:  I apologize for that.


Just one question, somewhat of a follow-up from the questions before the break that were not answered.


I was wondering which member of the -- or which -- who is the senior manager who would be responsible for determining, in this application, which ICM projects would be included, which of your -- your project portfolio that you provided, who ultimately would have made that decision.


MR. CASS:  Mark, first of all, you're assuming in your question that one person is making these decisions.


Second, I really don't see the relevance of this.  I'm sorry.


MR. RUBENSTEIN:  I will move on.


I had some questions, and this is just a bit of a technical nature, a number of undertakings.


The first undertaking I would ask was for you to provide the revenue requirement impact in 2011 of only including revenues of new customers in 2011, as opposed to inclusion of the full-year revenues of new customers in 2011.


MR. SEAL:  Sorry, Mark, can you repeat that?


MR. RUBENSTEIN:  Sure.  What would be the revenue requirement impact in 2011 of only using -- of only including the half -- of half the revenues of new customers in 2011, because you are only choosing -- you are using sort of a half-year on new connections, as opposed to inclusion of the full-year revenues of the new customers.


MR. SEAL:  I'm having a bit of trouble, because revenue requirement actually is not -- is not a concept with the number of customers.


So using half the customers, well, if we did have half the customers in our system, costs would be different.  But it doesn't impact revenue requirement.


I don't understand your question.


MR. RUBENSTEIN:  Let me rephrase it, then.


What would be the difference in revenues?  Let's forget revenue requirement.  What would be the difference in revenues between what you're sort of approved in 2011 in your application, versus if you had used sort of a full-year in all of the new connections and the load that it brings.  What would be those revenues?


MR. SEAL:  I'm still having trouble understanding the concept of this.


Certainly, we had revenue in 2011 associated with customers that were in place in 2011.  That revenue, roughly, reflected the revenue requirement, just on the basis that that's what you're supposed to do under cost of service.


Of course, there are timing issues, that the rates don't start until May 1st, the new rates don't start until May 1st, but generally the revenue in the year is supposed to be what you were allowed to get in the year.


So I'm not sure exactly what you're asking me to do.


MR. RUBENSTEIN:  I will try again.


MR. SEAL:  Please.


MR. RUBENSTEIN:  It's fine.  In your application for rates for 2011 -- 2011 being your test year -- the revenue portion of those rates.


MR. SEAL:  The rates generate the revenue, fully.


MR. RUBENSTEIN:  When you are projecting sort of your load for 2011?  You're projecting -- you don't use all of the connections, which you expect in the test year.


MR. SEAL:  Well, we actually do.  We take into account the load we expect in the year and the -- we took a mid-year number of customers to determine the rates that come out of the revenue requirement.


MR. RUBENSTEIN:  So I will stop you right there.  You used the mid-year of connections, instead of a full year of connections?


MR. SEAL:  Correct.  With the understanding that the first part of the year generally has a lower number of customers, the second part of the year has more customers, so the mid-year is the average number of customer that would be in place throughout the year.


MR. RUBENSTEIN: I will move on.


What would be the revenue requirement impact in 2011 of taking -- so in 2011, you had only taken the half-year rule for CCA.  What would have been the impact if you had used the full-year impact?


[Witness panel confers]


MR. SEAL:  It's not something I can answer off the top of my head, obviously, but I am not even sure it is relevant.  I will have to look into that.  Perhaps I will take an undertaking to determine if I can do that and if it makes sense.


MR. MILLAR:  JT2.20, that's a best efforts caveated by relevance undertaking.

UNDERTAKING NO. JT2.20:  to make best efforts to PROVIDE REVENUE REQUIREMENT IMPACT IN 2011 OF USING FULL-YEAR CCA.

MR. MILLAR:  We will mark it in any event.


MR. RUBENSTEIN:  Well, I understand the first part, that you might not be able to do that and that sort of caveat, the relevance caveat.  Essentially you're asking for rate base for all of 2011, year end.


So we're trying to understand other impacts of using

-- sort of what is not included, and that's why I think it is extremely relevant.


[Witness panel confers]


MR. SEAL:  As I said, we will undertake to try and answer that question.  Perhaps maybe I will ask you to ask it one more time, though, just so I am crystal clear.


MR. RUBENSTEIN:  Sure.  So currently you use -- you are only taking the half year for CCA for 2011, and we would ask you what would be the revenue requirement impact if you had taken the full-year impact of the CCA.


MR. SEAL:  Okay, thanks.


MR. RUBENSTEIN:  The next question is I was wondering if you could provide a forecast 2012 rate base continuity table.  You provided 2010 and 2011.


[Witness panel confers]


MR. SEAL:  Perhaps, Mark, we can refer you to an interrogatory response that maybe Roger is already showing you, tab 6C, schedule 7-6.  I don't know if that answers your question.


MR. RUBENSTEIN:  Yes, that's fine.  Thank you very much.


Could you confirm that you're seeking to have the ICM funding for 2012 in 2013 spending that will be in CWIP at the end of those respective years?


MR. McLORG:  At present, Mr. Rubenstein, our application is predicated on spending, because that was our understanding of the Board's framework for the ICM.  So that's correct.


MR. RUBENSTEIN:  Can you provide a detailed calculation of the impact of the inclusion of CWIP in the ICM for each of the test years -- I'm sorry, for each of the test years or 2012, 2013?


[Witness panel confers]


MR. SEAL:  I believe that our undertakings to Energy Probe dealing with the in-service adjustments for the ICM components will probably answer that question.


MR. RUBENSTEIN:  Can you undertake to answer that question, and if it's -- when you're doing the undertaking, if it is not, then you could provide it separately?


MR. SEAL:  If it's not in there -- it will be in there.  But if it's not, I will.


MR. RUBENSTEIN:  Okay.


MR. MILLAR:  So JT2.21, I guess that is either to provide the reference from existing interrogatories and, if not, to provide an answer yourself.  Thank you.

UNDERTAKING NO. JT2.21:  to PROVIDE A DETAILED CALCULATION OF THE IMPACT OF INCLUSION OF CWIP IN THE ICM FOR EACH OF THE TEST YEARS OR 2012, 2013 IF NOT ALREADY TO PROVIDED IN PRIOR UNDERTAKING REQUEST.

MR. RUBENSTEIN:  If I could take you to tab 6C, schedule 7-4, page 2?


MR. SEAL:  Can you tell us what issue this is?


MR. RUBENSTEIN:  Sorry.  This is issue 1.3, Energy Probe 4.  It's a table.


MR. SEAL:  Yes, we have that.


MR. RUBENSTEIN:  Okay.  If you could sort of keep your finger on that, and if you can go to schedule 7-6, page 2 in the same -- similar table?


MR. SEAL:  Okay, we have them.


MR. RUBENSTEIN:  Can you confirm that the two tables on these pages include CWIP in fixed assets?


[Witness panel confers]


MS. CHEAH:  Yes, they would include.


MR. RUBENSTEIN:  Can you restate those tables excluding all CWIP until they close to rate base?


[Witness panel confers]


MS. CHEAH:  I believe our response on one of the EP technical questions we have undertaking will also address that, as well.  There's a request for a nominal -- right, a nominal rate base calculation.


MR. RUBENSTEIN:  Can we do the same thing as we did on the last one?


MR. MILLAR:  Why don't we tie that in with the last interrogatory?  It sounds like they may in fact be referring to the same set of interrogatories, and, again, if the information is not there, then the company will agree to provide that.


MR. RUBENSTEIN:  If I can take you now to tab 6E, schedule 11-16, and this is VECC 16 that we have been talking a lot about today.


Can you clarify whether 2012 capital in-service of 112.62 million includes any amount in CWIP on December 31st, 2011, and, if so, how much?


MS. CHEAH:  The number is in isolation.  It refers specifically to the 2012 spend of 274, so the ask for 2012, and the 41 percent is calculated based on that number.


MR. RUBENSTEIN:  And the same thing would be for 2012?


MS. CHEAH:  2012 and 2013 are consistent; correct.


MR. RUBENSTEIN:  If I can take you to tab 6L, schedule 7-57, which is appendix A, which is Energy Probe 56, issue 4.2?


MR. SEAL:  Sorry, was that 56 or 57, Mark?


MR. RUBENSTEIN:  That is 57, appendix A.


MR. SEAL:  Yes.


MR. RUBENSTEIN:  Can you provide a net income in ROE calculation for each column, including all details in those calculations?


[Witness panel confers]


MR. SEAL:  We can undertake to do that.


MR. RUBENSTEIN:  Thank you very much.


My last question --


MR. MILLAR:  JT2.22.

UNDERTAKING NO. JT2.22:  to PROVIDE NET INCOME IN ROE CALCULATION FOR EACH COLUMN, INCLUDING ALL DETAILS IN THOSE CALCULATIONS.

MR. RUBENSTEIN:  Sorry.  And my last question is -- this is for the tab 2 addendum, page 2.  In discussion --


MR. McLORG:  Yes.


MR. RUBENSTEIN:  In the discussion of sort of the ICM, at the first paragraph on that page, you say:

"THESL believes that the work plan described in this update conforms to the requirements and intent of the incremental capital module as it had evolved over time, including the relevant ICM factors such as need and prudence."


I was wondering if you could provide details on, in your view, how the ICM has evolved over time.


MR. CASS:  Mark, I might say that is largely a matter for argument.  I certainly expect that I will be addressing that in argument.


I don't know whether the witnesses have anything they can help you with on that, but I think it should be clear that that is a matter that I expect to be addressing in argument.


MR. RUBENSTEIN:  It's in your evidence.


MR. McLORG:  Mr. Rubenstein, I certainly agree that it probably is a matter for argument, but I think generally at a high level it's THESL's understanding that the ICM essentially started as a mechanism to provide funding for what was then known or considered to be extraordinary and unusual capital expenditures.


And there were other factors that entered into the Board's consideration, as well, such as materiality and prudence and need, incrementality, but I think that over the course of the applications that the Board has received from ICM applicants, we have seen a shift in the Board's thinking.  And the Board itself has said that its thinking has evolved in this area.


So for example, the 2012 IRM filing requirements no longer make reference to extraordinary or unusual.


MR. RUBENSTEIN:  Thank you very much.  Those are my questions.


MR. MILLAR:  Thank you, Mr. Rubenstein.


Mr. Brett, did you want to go?  Or if you are not ready --


MR. BRETT:  No, I had my question answered.  It's fine.  I have no questions.


MR. MILLAR:  Mr. Blue, are you prepared to proceed?

Questions by Mr. Blue:


MR. BLUE:  Yes, I am.  Panel, or Mr. McLorg, you told Mr. Heyward that THESL had obtained an interim rate order as of June 2012; is that correct?


MR. McLORG:  That is correct.


MR. BLUE:  All right.  And what was the reason that you sought that order?


MR. McLORG:  We sought that order in light of the timing of this application and the likely timing of Board approval, with respect to the IRM PCI-type of adjustments.  That's the set of adjustments that apply to our base rates, exclusive or apart from any ICM rate adders.


MR. BLUE:  And is the effect of the interim rate order, in your mind, that when the Board does make its decision and grant whatever increase it may grant, that you may then adjust your rates for 2012 and 2013 to reflect those increased rates?


MR. McLORG:  In our -- both experience and proposal, it would not be a matter of any kind of retroactive billing to customers for consumption that has already been taken.


So the consumption that customers, all customers, have taken over the course of 2012 -- except for the most recent period, of course, that remained unbilled, but all of the billed consumption has been billed on a final basis by Toronto.


We don't seek to re-bill those customers at all.


But the interim rates order does permit the Board to do the same thing that it has done in the past, and that is to find that there is a revenue requirement associated with that period that could be collected by THESL prospectively, commencing on the date that rates become effective as a result of this proceeding.


MR. BLUE:  All right.  So that you would be recovering from customers subsequent to the date of the decision, revenue requirement required for a period prior to the date of the decision, in effect?


MR. McLORG:  On a prospective basis.


And to give this a little bit of context, the adjustment that we're talking about with respect to the IRM PCI adjustment is 0.68 percent.  So it's a relatively modest adjustment.


MR. BLUE:  Fair enough.  Nonetheless, you would be doing what I described?


MR. McLORG:  Yes, I think that's fair.


MR. BLUE:  And you see nothing unfair about that?


MR. McLORG:  Well, I think it is clearly the case that THESL has never proposed that a final rate order be rescinded retroactively.  We've never proposed that, and we don't think that that is a fair thing to do.


But the interim rate mechanism is available to the Board in circumstances like those that we find ourselves in.


And as a matter of fact, the Board has made use of it itself on other occasions.  I think that if you were to examine our tariff right now, you would see that the standby rates are interim and they have been interim since 2006.


MR. BLUE:  Right.  And we both agree that the effect of an interim rate order is to allow the Board to make that sort of an order retroactive to the date that the application was made; is that your understanding?


MR. McLORG:  I think the period in play for interim rates commences on the effective date of the interim rate order; June 1st, 2012, in our case.


MR. BLUE:  But do we agree it can reach back to the effective date of the application for the interim rate order?


MR. McLORG:  The effective date of the application for the interim rate order?


That's not my understanding of the effect.


MR. BLUE:  Okay, then, sir.  We can settle that one.


Now, sir, you'll recall that I questioned you in EB- 2012-0144 about the cost allocation for the street lighting rate class?


MR. McLORG:  Yes, I do.


MR. BLUE:  And I have copies of the transcript here, if you need to refer to them.


But I believe you expressed the view then that the -- that there were questions about the appropriateness of the cost allocation for street lighting rates?


I will give you the transcript.


MR. SEAL:  I actually have a copy of the transcript, Mr. Blue, and I'm going to take this question on.  Colin had the enviable position of answering these cost allocation questions in that hearing.


I actually am the manager of rates and responsible for the cost allocation issues, so I am going to try to help out with these questions.


MR. BLUE:  Sure.  And so the question on the table is -- I think Mr. McLorg did agree in EB-2011-0144 that there were questions about the appropriateness of the cost allocation for streetlighting class.  We agree that he said that, do we?


MR. SEAL:  He certainly did say that, and referred back to our particular hearing and the issues, and you actually, I guess, put on record the parts of our application that dealt with this.


MR. BLUE:  Right.  And of course, as manager of rates, you're aware that the Board considered the appropriateness of cost allocation of the streetlighting class in EB-2010-0219?


MR. SEAL:  I'm never very good with EB numbers.  That was the...


MR. BLUE:  Yes, this was the report that considered -- a report by Elenchus Research, comments of the various parties respecting the appropriate cost allocation and methodology for rate-making purposes to be used by distributors.


And then page Roman number III of the report -- or page 20, the Board noted that, quote:

"Many stakeholders also believe that the allocation of costs of streetlighting requires significant additional work in order to develop a more appropriate approach to determine the causal cost of streetlighting."


Do you remember something like that?


MR. SEAL:  I remember something like that.


MR. BLUE:  So do you and I agree that the allocation of cost to the streetlighting class of customers needs some work?


MR. SEAL:  Which is exactly why there is a committee right now looking at that.


MR. BLUE:  And EB-2012-0383?


MR. SEAL:  Correct.


MR. BLUE:  Right, okay.


Now, the next question I asked - and I gave you notice of this - is:  Of your revenue requirement, what is the significance or the percentage of the revenue from streetlighting rates?


MR. SEAL:  For our 2011 year, distribution revenue was $11.8 million on a total distribution revenue of $528 million, which is 2.2 percent, by my math.


MR. BLUE:  Okay, thank you.  Is the streetlighting class your smallest rate class?


MR. SEAL:  Smallest rate class in terms of revenue?


MR. BLUE:  Yes.


MR. SEAL:  No, I don't believe it is.


MR. BLUE:  Okay.  Which is smaller?


MR. SEAL:  I believe the unmetered scattered load is smaller.


MR. BLUE:  Okay, fair enough.


Now, sir, you are aware that the city has applied to the Board in its application - and that's EB-2012-0250 - for an interim rate for streetlighting class?


MR. SEAL:  That's my understanding.


MR. BLUE:  Yes.  And initially in the EB-2012-0250 proceeding, the city applied for the rates to be interim until the Board completed the old proceeding, EB-2010-0219.  You got a copy of this application, didn't you, sir?


MR. SEAL:  I honestly don't recall seeing it.


MR. BLUE:  I can show it to you.  First bullet.


MR. SEAL:  I see that.


MR. BLUE:  Okay.  And in my letter in this hearing, I indicated that -- well, before we get to that, we should go back and just recall that on issues day the city argued that the streetlighting rate class be made -- an interim rate request be made an issue in the hearing.


The Board said no, but said that parties could argue for interim rates in final argument.  We're both agreed on that -- do we, sir?


MR. SEAL:  That's my recollection, as well.


MR. BLUE:  Okay.  So I said in my letter that what the city will be seeking is an interim rate order for streetlighting rates from the date it applied, May 10th, 2012, until the Board makes its final determination in this new proceeding, EB-2012-0383.


You understand that?


MR. SEAL:  I think I understand that, yes.


MR. BLUE:  Okay.  And at least my understanding of the law is that if the Board grants that order, it would have the power -- I'm not saying it will exercise the power, but it would have the power, when that final decision comes out in EB-2012-0383, to reach back and adjust the streetlighting rates from May 10th, 2012.  They may do that by a prospective adjustment.  I don't know, but they would have that power.  Is that your understanding?


MR. CASS:  Ian, pardon me.  I have no problem with the line of questioning, but the witnesses aren't lawyers.  You just asked them about an understanding of the law.


MR. BLUE:  Assume that is the law.


MR. CASS:  Okay.


MR. BLUE:  Okay?


[Laughter]


MR. BLUE:  I will send you a copy of the Bell Canada case.  But assuming that's the law, that's the way it would work, wouldn't it, that the Board could reach back and adjust the streetlighting rates from May 10th, 2012 forward to whenever the Board makes whatever decision it is going to make in EB-2012-0383.


MR. McLORG:  Mr. Blue, that doesn't correspond to our understanding of how interim rates work.


In our understanding, interim rates become interim on the date of an order that is made by the Board.


So of course we have the order that's applicable to THESL right now, and the effective date for that order is June 1st.


MR. BLUE:  Okay.  I won't argue that with you, Mr. McLorg, but let's assume that the Board can adjust from the date of our rate application forward, and it may say that can be recovered prospectively; fair enough.


Assuming that, the question I asked in my letter is:  What practical problems would that cause for THESL if the Board said, Give back a few million dollars to the city through prospective rates?


MR. McLORG:  Well, I think that that would probably benefit from a response from our customer care team, as well, but, according to my knowledge, if it were the Board's decision to effectively declare that as of June 1, 2012, or whatever other arbitrary date we might assume, that the revenue requirement responsibility of the streetlighting class was to be adjusted, then THESL would be in the position of having to go through, on a very thorough and detailed basis, its customer billing records to establish what overpayment or underpayment, as the case may be, had been received by THESL from the streetlighting class and, I would add, as a consequence, from every other class, because, as you know, interim rates can't be interim for one class alone.


With a given revenue requirement, the size of the pie, so to speak, is fixed, and we're only talking about the allocation or relative sizes of the piece of that pie.


So if one piece is made smaller or larger, it necessarily impacts on at least one other class, but I would suggest that it would, in all likelihood, have an impact on all of the other significant rate classes that THESL has.


So to summarize that point, we would have to go back through our billing records to establish what amount was to be refunded to or was owing from each rate class.


So that would be, you know, a significant, time-consuming and probably costly undertaking for THESL.


The second point I would make is that the Board, of course, will give us all the benefit of its decision on this, but I would suggest that given the fact that interim rates can't be made interim for one class alone, that there might be a reluctance on the part of the Board to make rates interim for all classes for an indefinite period of time until the 0383 proceeding comes to a conclusion.


That, of course, is a matter for argument.  I am just suggesting that it wouldn't be something that THESL would advocate -- a long, indefinite period of rates being interim -- and THESL would, necessarily, have to undertake a detailed and very diligent examination of its billing records in order to put such a decision into effect.


MR. BLUE:  Okay.  Thank you for that.


I guess the correlative of saying that it would affect other rates is that if the Board made the decision in EB-2012-0383 that the street lighting class of customer had been overcharged, the correlative to that would be that other customers had been undercharged in that period, to that extent; fair enough?


MR. McLORG:  I think that is fair.


MR. BLUE:  Okay.  Now, I respect you describing the need to go back and look at billing records, but you have the staff to do that, don't you?


MR. McLORG:  Our existing systems and staff would be capable of doing that, but --


MR. BLUE:  Right.


MR. McLORG:  -- the consequence is that they would not be doing other work, because our resources are fixed.


MR. BLUE:  And the amount we're talking about is some percentage of 2.2 percent of your 2012, 2013 revenue requirement?


MR. McLORG:  I think that is fair, as well.


MR. BLUE:  The effect on other customers is not going to be terribly noticeable, is it?


MR. McLORG:  I would tend to agree with you, but nevertheless our rates are calculated and stated to the penny, so an adjustment would be required.


MR. BLUE:  But the amount would be noticeable to the city, wouldn't it?


MR. McLORG:  Well, I leave that in your hands.


MR. BLUE:  All right.  Thank you.  Thank you.


MR. MILLAR:  Thank you, Mr. Blue.


Mr. Higgin, you had one quick follow-up; is that correct?
Questions by Dr. Higgin:


DR. HIGGIN:  Yes.  Yes, thank you.


This refers to the undertakings -- this is to Mr. Seal -- that you undertook and that is JT 12, 13, 14.


The question is this:  Is there merit in using, in doing new calculations from this point forward of revenue requirements?  For those three methods, for example, if you would refer perhaps to the updated manager's summary, page 13, and a comparative analysis of revenue requirements and rate adders.  Okay?


We've asked you for some of that.


The question is very straightforward.  Would it be better to -- from this point forward, to use the Board's updated cost of capital parameters, which were issued on December -- sorry, November 15th?  And then we'd all be sort of -- that would be out of the way, that we would have to update things for that.


So when you're doing comparisons, as we have asked you, you would be now doing them on, for example -- on the ROE of 9.16, and that has changed.  And other parameters may have changed by the Board's cost of capital parameter update that would affect the revenue requirements associated with the ICM.


Leave aside for now the other piece, which is the IRM, and the 2.2 percent versus two percent for the CPI minus X, but just dealing with -- so would there be some merit in doing that?  Or is it too much damn work?


[Laughter]


MR. SEAL:  You would like an honest answer, right?


[Laughter]


MR. SEAL:  Actually, I would respond that I don't think there is merit in doing it, because it is my understanding that ICM calculations are all done based on last Board-approved cost of capital parameters.


So in fact, it is my understanding that we don't update these cost of capital parameters for ICM filings.


DR. HIGGIN:  Okay.  That's what your interpretation is.  Let's just put it that some of the other utilities have not followed that.  And it's when we come back to the fact that, as Mr. McLorg said, the requirements, including the filing requirements, have evolved and some of them have done that.


But you are suggesting that you would stick with that as the basis of comparison?  That's fine, if you do.  We may see later on there may be requests to do that, and if that happens you will have to deal with it.


I am just trying to make life simple.  Okay?  So what would you like to do?


MR. SEAL:  Well, as I said, my understanding is that those parameters do not get updated, and that was my reading of the Board's guidelines.


I would suggest that providing the undertakings on the same basis that we've already provided information on revenue requirements probably would give you the same indication, if you're trying to compare what the revenues are under the different methodologies, independent of what the underlying cost of capital parameters are.


So that's my long answer to saying I would like to continue with what I've got.


DR. HIGGIN:  Thank you.


Hydro One, by the way, went the other way, right?  Thank you.


MR. MILLAR:  Is that all, Mr. Higgin?


DR. HIGGIN:  That's all.  Thank you.


MR. MILLAR:  Okay.  I think that just leaves Staff, unless I am missing anyone?


Okay.  We will start with Mr. Davies.
Questions by Mr. Davies:


MR. DAVIES:  Thank you.  I had a couple of questions about the letter of October 31st, 2012.


MR. CASS:  Is this my letter you're referring to?


MR. DAVIES:  Yes, it is your letter.


MR. CASS:  Okay.  Should I take the stand?


[Laughter]


MR. DAVIES:  I don't know whether you would answer, or the panel.


MR. CASS:  Okay.


MR. McLORG:  I am happy to take a first swing at that, Mr. Davies.


MR. DAVIES:  Okay.  The first question relates to a statement on page 2, which reads as follows:

"All of the activity funded as a result of the OEB's decision in this case will be subject to a true-up process.  THESL is committed to developing a true-up mechanism satisfactory to the OEB, and is open to working with Board Staff and intervenors to that end."


The question was:  Could you clarify why you believe a true-up mechanism would need to be developed?


And from that point of view, would you see differences between the true-up process for this application and that which would take place for other ICM applications?  And if so, what would they be?


MR. McLORG:  Well, with respect to the first part of your question, Mr. Davies, I think it's our understanding that it's the Board's intention that there be a true-up process, and I think that we have interpreted that true-up process to be essentially analogous, highly similar, to the same kind of true-up process that has been and will occur in the case of smart meters.


But within the IRM/ICM filing guidelines themselves, after indicating that ICM spending overages or underages would be reviewed, the Board hasn't provided yet further details as to what exactly the true-up process would look like.  And I think that that importantly includes things like how would the reference revenue requirement be determined, and the -- you know, how the revenues would be calculated and all of those kinds of things.


So I think in brief, our view of the matter is that the Board has stated its intention that there be a true-up process.


We are, as indicated in our letter, of the view that it would be helpful to all parties to have a crystallized idea of what that true-up process would comprise and how it would be conducted.


And we're very happy -- we're, in fact, keen -- to work with intervenors and Staff, if the Board would find that helpful, to develop such a process for application in our case.


Now, to your second question, which had regard to whether that true-up process would apply to other utilities, of course that couldn't be in our mouths, but we're not aware that a true-up process, in fact, has been developed by the Board specifically with respect to ICM.


I admit that I probably haven't conducted an absolutely thorough review, but I did look at some of the cases where I thought that a true-up process might have unfolded already.  But I wasn't able to find any mention of it.


So certainly from our perspective, we wouldn't suggest that a true-up process would necessarily have to be created from scratch for each ICM application.  I don't think that that would be a good use of everyone's resources.


But if the Board were content to have THESL, in conjunction with Board Staff and intervenors, make a helpful contribution, then we would be very happy to do that, and it would be then in the Board's discretion as to whether that would apply to other utilities.


MR. DAVIES:  Thank you.


The second question relating to the letter would be related to the footnote, footnote 4 on page 3, which discusses the Bremner station project, and the footnote says, and I quote:

"With respect to the Bremner station project and the associated capital contributions from THESL to HONI, THESL believes that it is necessary to treat that project as an integrated three-year undertaking.  Furthermore, THESL believes that its updated evidence supports both the updated timelines for the project and the associated expenditures through to the end of 2014, at which time Bremner is forecasted to be complete subject to OEB approval.  OEB approval for the whole of the first phase of the Bremner station project is required at this time to enable THESL to enter into the construction and equipment supply commitments that are necessary to achieve completion by the end of 2014."


So just to be clear in terms of how Bremner is being treated in the application, the 2012 and 2013 components of Bremner are just part of the overall ICM amounts that you're seeking in 2012 and 2013; would that be correct?


MR. McLORG:  I think it would be correct to say that we would very much like the Board to treat the Bremner project as part of phase 1 of this application, and then in phase 2, the balance of the 2014 project segments and jobs would be examined, with the exclusion, of course, by that time of Bremner.


Otherwise, it's our -- it's our position, our application, that the Board should approve the Bremner project as a multi-year undertaking, as an ICM project.


MR. DAVIES:  Okay.  That was what I was wondering about.  Given that there's a 2014 component of Bremner and phase 1 is 2012 and 2013, in the first phase are you looking for any specific approvals from the Board for the 2014 component of Bremner?


MR. McLORG:  Well, I think that that can be broken down into a few different component pieces.  Overall, it is THESL's hope that the Board will approve the Bremner project as an ICM project and, by doing that, approve the undertaking, first of all, and to approve the spending that is associated with that undertaking.


With respect to the rate adders that would be attached to Bremner, I think that that is a separable question, and we think that that is something that could be the subject of discussions in settlement.


But we do very much seek the Board's approval of the project as a project, because, as explained in the evidence, without OEB approval, THESL is really unable to undertake the very significant financial commitments and planning commitments and, you know, get into contracts with suppliers and contractors, and so on, in order to be able to complete the project by the end of 2014.


MR. DAVIES:  So -- but do the rate adders that you're seeking approval of in phase 1 of this application contain any cost recovery for the 2014 portion of Bremner?


MR. McLORG:  No, they do not.


MR. DAVIES:  So is there any element, then, that you would be, in a sense, seeking to spin Bremner off and treat it as a separate project in some fashion in the first phase of the application as compared to job components of the overall projects for which you're seeking approval?


MR. McLORG:  Well, if I understood your question correctly, it is certainly the case that THESL is applying now to the Board for approval of the project as a whole.


Just to give a little bit of explanation for that, it certainly couldn't be the case for us that we would undertake the Bremner project in a fashion that provided us assurance only for the spend that was going to need to occur in 2012 and 2013 and be uncertain of OEB approval for the balance of the spend that would be necessary to bring the project to completion.


So we don't want to be in a position of attempting to cross a bridge and getting half way across and finding out there is no more bridge left.


We apply for OEB approval of the project as a whole, and that would involve the Board approving the entire spend for the Bremner project as part of phase 1 of this application.


But in terms of the rate adders, those costs are not included in the rate adder calculation at this time.


MR. DAVIES:  Okay.  So just to summarize, then, the rate adders in phase 1 would cover the 2012 and the 2013 components of Bremner, but you would also be seeking Board approval for the 2014 component in phase 1, even though that component is not explicitly included in the rate adders?


MR. McLORG:  Yes.  We would be seeking approval for the project and for the spend, but we can defer the calculation of the 2014 adders to a later time, provided that the Board approves the project as a whole.


MR. DAVIES:  Thank you.


The next question I had goes back to issues related to VECC Interrogatory No. 16 and the in-service asset question.


I think you've clarified that of the forecast 2012 capital spend of $274.68 million, $112.6 million is going to come into service in 2012 and the remaining $162.06 million would come into service in 2013.


Then for 2013, of the $579.09 million, $283.76 million will come into service in 2013 and the remaining $295.34 million will come into service in 2014.  Would that be a correct summary?  I think that is what the previous panel had indicated.


MS. CHEAH:  With the exception of 2012 for the 162 million, again, the part that associates itself with Bremner and Hydro One contributions, there's a portion of that that does not become in-service until 2014.


MR. DAVIES:  Okay.  But the bottom line would be that all of this capital that you have forecasted to be spent in 2012 and 2013 would come into service by the end of 2014?


MS. CHEAH:  That is our current assumption, yes.


MR. DAVIES:  Okay.  So would it be correct to say that in your application you're asking the Board to approve -- provide approval for rate recovery for capital expenditures that will not necessarily be in service in the years for which the relief is being requested?


For instance, in the first phase you would be asking for approval of the 2012 and 2013 capital spend, even though a part of this capital spend will not come into service until 2014; would that be correct?


MR. McLORG:  I think that we are certainly asking for approval of the 2012 and 2013 spend, as stated in the updated application.


And if it doesn't seem to be splitting hairs, our view is that that's separable from the question of how the cost recovery for those amounts could be staged into rates over '12, '13, '14, and even into '15.


MR. DAVIES:  Would you agree that when the Board has approved ICM amounts in previous decisions, that the amounts requested have been approved on the basis that the assets are coming into service in the year for which the rate approval has been requested?


MR. McLORG:  Yes, based on our current knowledge, that has been the case.  Because, again, to our knowledge, there hasn't been an application that involved projects that were inherently multi-year, like Bremner, or were of the nature of THESL's proposed projects, which are conducted on a continuous basis throughout the year and which only artificially can be divided into annual segments.


MR. WILLIAMS:  Additionally, if you review the past Board decisions, I think it is more implicit that they were to be covered in that rate year, as opposed to explicit.


So I don't know if there is specific statements that all of that would be spent and in service in that year.


MR. DAVIES:  Thank you.


The last question I had relates to Board Staff Interrogatory No. 79.


MR. McLORG:  Yes, we have that.  Thanks.


MR. DAVIES:  And I just wanted to clarify some of the aspects of the application related to the standard and the non-standard approaches which are being discussed.


And when you're looking at some of the departures that -- from traditional practice, I guess, that would be included in the application, I think it would be true to say that, first, you have included an adjustment to the 2011 year-end capital to effectively put that on a full-year, Board-approved basis; is that correct?


MR. McLORG:  Well, specifically what we are seeking is recognition in rates -- and perhaps that's going to be a rate rider for right now -- of the ending net investment that THESL had in the business as a result of 2011, which was significantly higher than the average net investment or rate base that THESL had for 2011, upon which rates were set.


So that's correct, yes.


MR. DAVIES:  Yes.  So the application as filed includes a rate adder to recover that amount?


MR. McLORG:  Whether it's an adder or a rider perhaps is a question of semantics, but yes, we would like to see that reflected in rates.


MR. DAVIES:  Okay.  And then I think in the evidence and in the discussion of the -- and in that interrogatory response, the issue of the windfall wind, that I think you identified as existing if you use what I believe is characterized as the standard approach, versus the alternative approach that you have proposed.


And the alternative approach, as I understand it, has two moving parts.


The first would be that the dead band would be removed, on the one hand.


And the second would be that instead of getting a full year of depreciation for the going-forward years, you would instead get a half-year.


Is that basically the trade-off that is involved in the proposed approach?


MR. McLORG:  I think that's essentially correct, although I would make the note that it's not simply the depreciation that we're speaking of when we talk about the half-year rule versus the full-year rule, but rather it's all of what we call the capital-related costs.


So that's interest cost, return, taxes and depreciation.


MR. DAVIES:  Okay.  And in the application, you were pointing out that this -- this is a proposed approach, but it's not one that you've incorporated into the rates that you're seeking in the application; is that correct?


MR. McLORG:  Well, we have offered this approach as an alternative to the Board, because we believe that it can provide significant rate-mitigation potential.  And I think in our evidence, we have calculated the rates under both scenarios or both methodologies.


Mr. Seal would be able to confirm the exact evidence that we filed, but our approach has really been to try to demonstrate the differences between the revenue requirements that would be associated with each.


MR. DAVIES:  But if the Board was to decide that it agreed with the concerns that you had that led to this alternative approach, the tariff schedules that are contained in the application at present would have to be modified to take it into account in some fashion; would that be correct?


MR. SEAL:  That's correct, that the tariff schedules that we filed reflect the standard approach.


We have filed, as part of an interrogatory response, the full ICM models and rate impacts that go with the alternative scenario, but not the tariff schedules.


MR. DAVIES:  Thank you.


Is it true to say that the reason that the windfall situation is arising, in your view, would be that as you get into higher and higher levels of capital expenditures for which you would be seeking recovery under the ICM module, the effect of the depreciation, the additional depreciation that would be recovered, would outweigh the rate-reducing effect of the dead band?


And I think you refer to a cut-over point of about $228.2 million, at one point.  So essentially, as the capital goes up and the depreciation increases, that has a rate-increasing effect, which outweighs the rate-decreasing effect of the dead band?


MR. McLORG:  I think that's fair.


I don't mean to nag, but I would, again, note that it's the capital-related costs, those four costs that I just mentioned a moment ago, including depreciation, that are a part of the equation.


MR. DAVIES:  Yes, subject to that.


Now, in terms of the windfall, if you use the standard approach, in your view there would be a windfall, as I understand it.  But if you switched to the alternate approach, would there no longer be a windfall, in your view?


MR. McLORG:  Well, in our -- would you like to answer?


MR. WILLIAMS:  I mean, the Toronto Hydro has proposed an alternative and, as Mr. McLorg said, they've proposed it as a rate mitigation measure.  So they compared the standard with an alternative approach that I think Toronto Hydro has demonstrated yields a lower revenue requirement for the adders.


MR. DAVIES:  Okay.  But I guess what I was trying to clarify is:  How do you know -- how are you defining a windfall in this context?


MR. McLORG:  Well, perhaps we could have found a better term for that, but, in our view -- I will say two things.


First of all, it appears to be the case to us that a full-year approach to the determination of the capital-related costs in a given period necessarily does overcompensate a utility, which typically would introduce net additions to rate base over the whole course of the year rather than as one lump sum on January 1st.


In that limiting hypothetical case, the full-year treatment would be appropriate.  But in all realistic cases, capital is added on a net basis over the course of the year, and Toronto Hydro has been content that the Board, for a given test year, if I may call it that, use the half-year rule as an approximation of the average capital that is employed by the utility in that year.


To the extent that a mechanism of any kind would determine a higher revenue requirement than is attracted by the average level of capital in that year, then perhaps you could call it a surplus or some other word apart from a "windfall".


But in our estimation and considered in isolation, the full-year rule does have that effect when it is applied.


MR. DAVIES:  Thank you.  Those are all of the questions I have.

Questions by Mr. Mikhail:


MR. MIKHAIL:  I have a couple of questions, and one of them is just for me to understand some of the various aspects of rate-making that sometimes are working against one another, I guess.


So I am trying to understand the linking of prudence versus the projects that are proposed under ICM and how does that interplay with ratepayers.


So if you turn to VECC IRR 24, which is tab 6F, schedule 11-24?


MR. McLORG:  Yes, we have that.


MR. MIKHAIL:  Okay.  So in answer to question (a) -- question (a) said:

"Does THESL consider year-over-year bill impacts to be an element of the public acceptability constraints noted in the text?"


They're referring to the pre-filed evidence:

"If not, why not?"


And the response was basically in two paragraphs, and the first paragraph talks about prudence is to achieve or approach to the lowest life cycle cost subject to some constraints, and the constraints is basically safety focussed, compliance with standards, including regulatory practice and public acceptability, and reliability of the system.


They further go on and say:

"THESL regards bill impacts as being important, but logically separate from the attribute of prudence."


So my sort of struggling with -- can you give me some explanation of how ratepayers' impacts influence the determination of the total of the capital projects for any given year?


MR. McLORG:  Well, in that regard, Mr. Mikhail, it is certainly the case that THESL has a very deliberate and comprehensive view of what is electrically necessary in order to maintain an acceptable standard of reliability, safety and adequacy on our distribution system.


And from that view of what is electrically necessary comes a view of costs that are necessary to be undertaken to achieve those objectives.


So when we look at what's necessary to do electrically on our system, we're guided by a view, essentially, of what, from that perspective, is necessary to, as I said, achieve and maintain a satisfactory level of performance.


We certainly seek in doing that to not exceed reasonable boundaries of what rate impacts would arise from those proposed expenditures.


And, in particular, we are certainly of the view that we should strive, within the constraints in which we operate, to achieve the smoothest and most predictable evolution of rates that we can, subject to the electricity needs.


Now, all capital undertakings that result in an increase in rate base will necessarily create a rate impact, and I think it's reasonable to say that different people can have different views about the pace, could I call it, of those rate impacts.


We, just to repeat, like them to be as smooth and predictable as possible and commensurate with the work that needs to be done, but people could reasonably have different opinions about the pace of the work.


The proposal that we've put forward represents our judgment about the pace of the work that's appropriate and the rate impacts that correspond to that, and we certainly do try to be very, very sensitive to customer perceptions about rate impact, and, certainly along those lines, to conduct our business in the most cost-effective way that we can.


But ultimately the question of what's appropriate as a pace for the work that is electrically required and the corresponding rate impacts is a matter for the Board, in our estimation, to exercise its judgment on.


MR. MIKHAIL:  Thanks very much.  That helps to understand, you know, how you view it, and I guess the pre-filed evidence has some sort of reference to the impacts.  So that reflects what you are comfortable with.


MR. McLORG:  Yes, it does.  We are comfortable with the proposal that we have put forward.


MR. MIKHAIL:  Okay, thanks.  My next one is pretty straightforward.  It is just getting some cost breakdowns.


I would refer you to the updated evidence at tab 4, schedule C1, and it is on the first page.


MR. McLORG:  Tab 4, schedule C1, Mr. Mikhail?


MR. MIKHAIL:  Yes.  On page 1, there is a table, table 1, and it basically lists the components of the operational capital -- or operations capital, I should say.


Are you there?


MR. McLORG:  Yes, we have it.  Thank you.


MR. MIKHAIL:  Okay.  So basically I would like to get a breakdown of the components to the labour and overhead for all of them -- actually, material, labour and overhead for all of them except engineering, because it only has labour.


So if you can get the breakdown for engineering on the two components, labour and overhead, and for the rest, we would like to get the material, labour and overhead on the -- '12 and '13 for these initiatives and undertakings.


[Witness panel confers]


MS. CHEAH:  Can we just get clarification on your reference to the term "overhead"?


MR. MIKHAIL:  Well, from what I understand, that for any activity involving engineering time, for example, what you allocate to a particular job or undertaking, there will be the hours of the particular engineer or technologist, and on top of that you put in some overhead.


I presume that is what happens?  If not, let me -- or clarify that for me.


MS. CHEAH:  Okay.  Our response to AMPCO 6 does address the labour component, segregated by these projects as reported here.


MR. MIKHAIL:  AMPCO which, again, sorry?


MS. CHEAH:  AMPCO 6.


MR. MIKHAIL:  So it's AMPCO No. 6?


MS. CHEAH:  Yes.  It's tab 6(f), schedule 2-6.


MR. MIKHAIL:  Okay.  Okay.


MS. CHEAH:  So I believe we have provided the labour component of it.  With regards to the materials, we can provide that, as well.


MR. MIKHAIL:  Okay.


MS. CHEAH:  As an undertaking.


MR. MIKHAIL:  Would you be able to provide the overheads, too, associated with, say, the worst performing feeder to the rest of them?


[Witness panel confers]


MS. CHEAH:  I apologize.  We're just trying to clarify, again, "overheads."


With respect to overheads, most of our additional costs, be it our IT charges related to the designer or engineer who is participating in that particular portfolio, are expensed.


With respect to, you know, any burdened labour costs, such as benefits associated with that particular hour of labour that we may incur, we have incorporated that piece into our labour component, as reflected in that IR response.


MR. MIKHAIL:  So it is included in the labour?


MS. CHEAH:  The benefits --


MR. MIKHAIL:  The overheads are included in the labour?


MS. CHEAH:  The benefits piece to total compensation.


MR. MIKHAIL:  Yes?


MS. CHEAH:  Has already been included in the labour piece.


MR. MIKHAIL:  Okay.  Well, I guess, then, that's that.  That's fine.  If you can sort of provide the missing components from that AMPCO IR, that's fine.


MS. CHEAH:  Okay.


MR. MILLAR:  It's JT2.23.
UNDERTAKING NO. JT2.23:  to PROVIDE INFORMATION FROM MISSING COMPONENTS FROM RESPONSE TO AMPCO INTERROGATORY NO. 6.

MR. MIKHAIL:  And that is all for me.


MR. MILLAR:  Is there anybody else?  Okay.  Thank you.


MR. RUBENSTEIN:  Wait, sorry.  I just wanted to go back to -- this is actually for Mr. Cass.


On panel 1B, we asked about cube trucks, and Mr. Cass said he would consider their position if they will take the undertaking, and get back to me today.


MR. CASS:  That wasn't my thought, that I would get back today, Mark.


MR. RUBENSTEIN:  Oh, I misheard, then.


MR. CASS:  A couple were taken under advisement, and we will indicate either it is a refusal or it will be answered.


MR. RUBENSTEIN:  Okay.  Thank you very much.


MR. MILLAR:  Okay.  I think that concludes our technical conference.  Thank you very much to the witnesses, the parties, and of course the court reporter, and we will see you all at the settlement conference next Wednesday.  Thank you.


--- Whereupon the conference concluded at 4:28 p.m.
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